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Chapter- 6 Natural Vegetation and Wildlife
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Natural vegetation is the plant life of a region.

¢ Natural vegetation is of three types: forest, grasslands and shrubs.

¢ The changes in the type of natural vegetation mainly occurs because of the changes of the
climate region.

¢ Forests:

(i) Forests are of six types: Tropical Evergreen, Tropical Deciduous, Temperate

Evergreen, Temperate Decidous, Mediterranean, Vegetation, and Coniferous forests.

(i) Tropical Evergreen Forests are those which occur in the region near the equator and

close to the tropics.




(iii) Tropical Decidous Forests are monsoon forests which shed their leaves in the dry
season to conserve water.

(iv) Temperate Evergreen Forests are located in mid-latitudinal coastal region.

(v) Temperate Deciduous Forests are those which shed therir leaves in the dry season.
(vi) Meditteranean Vegetation is found around Mediterranean Sea in Europe.

(vii) Confirous Forests are found in areas along the Taiga.

e Grasslands:

(i) Tropical grasslands occurs on either side of the equator and extend till the tropics.
(ii) Temperate grasslands are found in mid-latitudinal zones and in the interior part of
the continents.

¢ Thorny Bushes:

(i) Thorny bushes are found in the dry desert like regions.

(ii) These are found in areas with scanty rain and scorching heat.

¢ Tundra Vegetation:

(i) Tundra vegetation growth of natural vegetation is very limited here.

(ii) It is found in polar areas.

MULTIPLE CHOICE QUESTIONS

Q-1 Tropical evergreen forest are also called-
(a) Tropical rain forest (b)Tropical dry forest
(c) Tropical deciduous forest (d)None of these
ANSWER: A - Tropical rain forest

Q-2 Tundra vegetation is found in the
(a)Polar region (b)Tropical region

(c)Desert region (d)Equatorial region
ANSWER : A - Polar region

Q-3 Vegetation is scarce in this region

(a) Plateau region (b)forest region

(c )Mountain region (d)Tundra region

ANSWER : D - Tundra region
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Q-4 Which of the following has no effect on vegetation cover of a region?
(a)Temperature (b)Moisture

(c)Soil cover (d)Rocks

ANSWER : D - Rocks

Q- 5 Mosses and lichens are found in

(a)Desertic vegetation (b)tropical evergreen forest (c) Tundra vegetation
ANSWER : Tundra vegetation

Q-6 Thorny bushes are found in

(a)hot and humid tropical climate (b)Hot and dry desertic climate (c)cold Polar climate
ANSWER : (b)Hot and dry desertic climate

Q-7 In tropical evergreen forest one of the common animal is

(a)Monkey (b)Giraffe (c )Camel

ANSWER: Monkey

Q-8 One important variety of coniferous forest is

(a) Rosewood (b) pine (c )Teak

ANSWER : Pine

Q-9 Steppe grasslands are found in

(a)South Africa (b)Australia (c )Central Asia

ANSWER : Central Asia

Part: 2

VERY SHORT QUESTION ANSWERS:

Q 1-Where do we find temperate deciduous forests?

ANSWER: North eastern part of USA, China, New Zealand,Chile and also found in the coastal regions of
Western Europe.

Q 2-Name some of the common animals found in coniferous forests.
ANSWER: Silver fox, mink, polar bear.

Q 3- India has both hot and cold deserts name them and tell in which state are they located.

ANSWER : 1. The Thar Desert in Rajasthan ( hot Desert)




2. Ladakh Desert in Ladakh (cold Desert)

Q 4- Name the two hardwood trees commonly found in tropical evergreen forest.
ANSWER : 1. Rosewood 2. Ebony

Q 5 -In which climatic conditions are citrus fruits cultivated ?

ANSWER : hot dry summers and mild rainy winters.

Q6 -In which part of world are seasonal grasslands found?

ANSWER: These are found in the mid-

latitudinal zones and in the interior part of the

continents.

Q 9- Which are two factors on which the growth of vegetation mostly depends ?
ANSWER : Temperature and Moisture

SHORT ANSWER TYPE QUESTIONS

Q 1 Name different types of natural forests ?

ANSWER : 1. Tropical evergreen forests

2. Tropical Deciduous Forest

3. Temperate evergreen forest

4. Temperate deciduous forest

5. Mediterranean vegetation
6. Coniferous forest
Q 2 Mention the uses of coniferous forests ?

ANSWER : The woods of these trees are very useful for making pulp,which is used for manufacturing
paper and newsprint.Match boxes and packing boxes are also made from softwood.

Q 3-Give reasons—The animals in polar region have thick fur and thick skin.

ANSWER : The animals have thick fur and thick skin to protect themselves from the cold climatic
conditions.

LONG QUESTION ANSWERS

Q 1-Mention the major features of Tundra Region.




ANSWER : This vegetation is found in the polar areas of Europe, Asia and NorthAmerica. The animals
have thick fur and thick skin to

protect themselves from the cold climatic conditions. Seal, walruses, musk-oxen, Arctic owl, Polar bear
and snow foxes are some of the animals found here.

Q 2-Write the characteristics of Tropical Evergreen Forest .

ANSWER : These thick forests occur in the regions near the equator and close to the tropics. These
regions are hot and receive heavy rainfall throughout the year. As there is no particular dry season, the
trees do not shed their leaves altogether. This is the reason they are

called evergreen. The thick canopies of the closely spaced trees do not allow the sunlight to penetrate
inside the forest even in the day time. Hardwood trees like rosewood, ebony, mahogany are common
here.

SOURCE BASED QUESTION ANSWERS: CCT /PISA
Mediterranean Forest
This type of vegetation gets its name from the Mediterranean sea bordering Europe ,Africa

and Asia. It is also found in California in USA, South west of south America, south west Australia.These
regions have hot and dry summers and mild and wet winters. Trees adopt themselves to dry summers
with help of thick bark and wax coated leaves which help them reduce transpiration.Mediterranean
region are known as the Orchards of the worlds for their fruit cultivation. Citrus fruits like oranges
,grapes figs and olives are grown here.Not much of wildlife is found here.

Q 1-In which climatic conditions are citrus fruits cultivated ?

ANSWER : hot dry summers and mild rainy winters.

Q 2 - Mediterranean region are known as

ANSWER : the Orchards of the worlds for their fruit cultivation.

Q3 - Give examples of citrus fruits?

ANSWER: oranges ,grapes figs and olives

MAP BASED QUSITIONS :

1 On outline map of the world mark different types of forest using different
colors .

2. On the outline map of Africa ,mark the Sahara desert.




Chapter 7

Human Environment Settlement, Transport and Communication
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GIST OF THE LESSON:

Human beings are dependent on environment.

¢ To grow food, build homes and developed better means of transport and communication,
human beings have modified the environment.

¢ Settlements:

(i) Settlements are places where people build their homes.

(ii) The settlements earlier grew near the river valleys as water was easily available and
land was fertile.

(iii) Settlements can be permanent or temporary.

(iv) Settlements which are occupied for a short time are called temporary settlements.




(v) In permanent settlements, people build homes to live in.

(vi) Settlements can be rural or urban. Rural settlements can be compact or scattered.
People in rural areas practice agriculture. In urban area, people are mostly engaged in
services.

e Transport:

(i) Transport is the means by which people and goods move.

(ii) With the invention of wheel, transport, became easier.

(iii) Earlier donkeys, mules, bullocks and camels were used for transportation.

(iv) Earlier traders took land route or sea route for transportation. Now it takes only 6-8
hours to travel from India to Europe.

(v) The four major means of transport are roadways, railways, waterways and airways.
¢ Roadways: The most commonly used means of transport especially for short distances, are
roads. They can be metalled or unmetalled.

¢ Railways:

(i) The railways carry heavy goods and peple over long distances quickly and
economically.

(ii) The invention of steam engine and industrial revolution helped in speedy
development of rail transport.

(iii) Diesel and electric engine have largely replaced the steam engines.

(iv) Now super fast trains have been introduced to make travelling faster.

(v) Indian railways network is the largest in Asia.

e Waterways:

(i) Waterways are the cheapest for carrying heavy and bulky goods over long distance.
(ii) There are manly two types of routes, inland waterways and sea routes.

(iii) Navigable rivers and lakes are used as inland waterways.

(iv) Sea routes are connected through ports.

e Airways:

(i) It is the fastest means of transport developed in the early twentieth century.

(i) It is the only mode of transport to reach the most remote and distant areas especially
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where there are no roads and railways.

(iii) Some major airports in the world are Delhi, Mumbai, New York, London, Paris,
Frankfurt and Cairo.

e Communication:

(i) Communication is the process of conveying messages to others.

(i) Different modes of communication are used to provide information, to educate as well
as to entertain.

(iii) Through newspaper, radio and television, we can communicate with a large number
of people. They are, therefore, called mass media.

(iv) Satellites, Internet, Wireless telephone are main modes of communication.

MULTIPLE CHOICE QUESTIONS :

1. Which of the following is not a means of communication?
A). TELEPHONE B). BOOKS C). TABLE

ANSWER -C Table

2. Which type of road is constructed under the ground?

A). FLYOVER B).EXPRESSWAYS C). SUBWAYS

ANSWER : C Subways

3. Which mode of transport is most suitable to reach an island?
(A) SHIP

(B). TRAIN

(C). CAR

ANSWER : A SHIP

4. Which vehicle does not pollute the environment?

(A). CYCLE (B). BUS (C). AEROPLANE

ANSWER : A CYCLE

5. Which type of dwellings are built in region near the poles?

(A) STILT HOUSES

(B) IGLOO
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(C) THACHED HOUSES

ANSWER : B IGLOO

6. The Trans — Siberian railways is the longest railway system runs through the country of:
A). CANADA B). CHINA C). RUSSIA

ANSWER : C RUSSIA

SHORT QUESTIONS ANSWER

Q. 1 What is the benefit of railways?

Answer: 1. It can carry heavy goods and people over long distance quickly and cheaply.

2. It makes the journey faster.

Q. 2 Name the important inland water way ?

Answer : 1. The Ganga Brahmaputra river system

2. The great lakes in North America

3. The River Nile in Africa

Q.3 What kind of houses are built in area of heavy rainfall?

Answer : Houses are constructed on a raised platform or stilts.

Q.4 Whatis mass media ?

Answer : The communication by which a large number of audience can be reached at the same time is
called mass media. It consists of newspaper, telivisions, radio etc.

Q. 5. Give two advantages of waterways?

Answer : 1.Waterways are the cheapest for carrying heavy and bulky goods over long distances
2.Sea routes and oceanic routes are mostly

used for transporting merchandise and

goods from one country to another.

COMPETENCY BASED QUESTIONS :
1. Which is the longest railways system?

Answer : The Trans - Siberian Railway.




2. Which is the highest roadways in the world?
Answer : Manali - leh highway

3.Name any two important ports of the world ?
Answer : 1.Singapore and Mumbai in Asia.
2.Durban and Capetown in Africa

3.Sydney in Australia.

LONG QUESTIONS ANSWERS
1. Write the advantages of Road transport ?

Answer : The most commonly used means of transport especially for short distances are roads. They can
be metalled (pucca) and unmetalled (kutcha). The plains have a dense network of roads. Roads have
also

been build in terrains like deserts, forests and even high mountains.
2. Mention the various types of settlement ?

Answer : Settlements can be permanent or temporary.Settlements which are occupied for a short time
are called temporary settlements. The people living in deep forests, hot and cold deserts and mountains
often dwell in such temporary

settlements. They practice hunting, gathering, shifting cultivation and transhumance.However more and
more settlements today are permanent settlements. In these settlements, people build homes to live in.

3. Write two positive and two negative aspects of Railways ?

Answer : In places super fast trains have been introduced to make the journey faster. The railway
network is well developed over the plain areas.

Advanced technological skills have enabled laying of railway lines in difficult mountain terrains also. But
these are much fewer in number.

SOURCE BASED QUESTION ANSWERS CCT/ PISA

In rural areas, people build houses to suit their environment. In regionsof heavy rainfall, they have
slanting roofs. Places where water

accumulates in the rainy season the houses are constructed on a raised platform or stilts

Thick mud walled houses with thatched roofs are very common in areas of hot climate. Local materials
like stones, mud, clay, straw etc are

used to construct houses. The towns are small and the cities are larger urban settlements. In

urban areas the people are engaged in
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manufacturing, trading, and services. Name some of the villages, towns and cities of your state.

Q 1. What are the roofs like in areas with heavy rainfall?

Answer: In areas with heavy rainfall, the roofs are slanting.

Q 2. How are houses constructed in areas with hot climate?

Answer: In areas with a hot climate, houses with thick mud walls with thatched roofs are built.
Q 3. What activities are people engaged in in urban areas?

Answer: In urban areas people are engaged in manufacturing, trading and services.

Activities:

Find the names of some newspapers and TV news channels in English, Hindi and a regional language.




Chapter 8

Human Environment Interactions, The tropical and the Sub Tropical Region
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GIST OF THE LESSON

¢ Human beings interact with environment and are dependent on it for a number of things.
e Life in the Amazon Basin:

(i) Amazon river was discovered by a Spanish explorer, Vicente Yanez Pinzon.

(ii) The Amazon basin lies in the tropical region close to the equator between 10°N and
10°S, and the river Amazon flows through this region.

(iii) The Amazon river basin drains portions of Brazil, parts of Peru, Bolivia, Ecuador,
Columbia and a small part of Venezuela.

e Climate:

(i) The Amazon basin stretches directly on the equator and its characterized by hot and
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west climate throughout the year.

(ii) There is heavy rainfall and high humidity.

¢ Rainforest:

(i) As it rains heavily, thick forests grow in this region.

(ii) The forests are in fact so thick that the dense roof created by leaves and branches do
not allow the sunlight to reach the ground.

(iii) The rainforest is rich in fauna.

(iv) The basin is home to thousands of species of insects.

¢ People of the Rainforests:

(i) People grow most of the their food in small areas after clearing some trees in the
forest.

(ii) Slash and burn agriculture is prevalent.

(iii) The development activities are leading to gradual destruction of the biologically
diverse rainforest.

e Life in the Ganga-Brahmaputra Basin:

(i) The tributaries of rivers Ganga and Brahmaputra together form the Ganga-
Brahmaputra basin in the Indian subcontinent.

(ii) The plains of the Ganga and the Brahmaputra, the mountains and foothills of the
Himalayas and the Sunderbans delta are the main features of this region.

(iii) The basin area has varied topography. The mountain areas with steep slopes have
inhospitable terrain.

(iv) Agriculture is the main occupation of the people where flat land is available to grow

new crops.

(v) Wheat, maize sorghum, gram and millets are the important crops of the region.

(vi) The vegetation cover of the area varies according to the type of landforms.

(vii) There is a variety of wildlife in the basin. In the delta areas, Bengal tiger, crocodiles
and alligators are found.

(viii) Fish and rice is the staple diet of the people.

(ix) The Ganga-Brahmaputra plain has several big towns and cities like Allahabad, Kanpur,
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Varanasi and Lucknow.
(x) All the four means of transport are well-developed in the Ganga-Brahmaputra basin.

(xi) Tourism is an important activity of the region.

MCQ Questions

Q1. Deodars and firs are a type of :

a) Coniferous trees b) Deciduous trees c) Shrubs d) Tropical hardwood
ANSWER - A Coniferous forests

2. Kolkata is located on the river:

(a) Ravi (b) Bhagirathi (c) Hooghly (d) Ganga

ANSWER - C Hooghly

3. Manioc is the staple food of :

(a) Ganga Basin (b) Africa (c) Amazon (d) All of these
ANSWER - C Amazon

4. Which of the countries is not a part of Amazon basin?
(a) Brazil (b) Bolivia (c) Peru (d) Argentina

ANSWER - D Argentina

5. Toucans are a type of :

(a) Bird (b) Animal (c) Crop (d) Tree

ANSWER - A Bird

6. Which type of road is constructed under the ground?

(a) Fly over (b) Expressways (c) Highways

(d) Subways

ANSWER - D Subways

Short Question Answers

1. What type of climate does the Ganga basin region experience ?

ANSWER : The area is dominated by monsoon climate. The monsoon brings rains from mid-June to mid-
September. The summers are hot and the winters cool.




2. What is the extent of the Ganga Brahmaputra basin?
ANSWER : The tributaries of rivers Ganga and
Brahmaputra together form the

Ganga-Brahmaputra basin in the Indian subcontinent . The basin lies in the sub-tropical region that is
situated between 10°N to 30°N

latitudes.

3. What is specific feature of the forests of the Amazon basin?

ANSWER : As it rains heavily in this region, thick forests grow . The forests are in fact so thick
that the dense “roof” created by leaves and

branches does not allow the sunlight to reach

the ground. The ground remains dark and damp.

Only shade tolerant vegetation may grow here.

Orchids, bromeliads grow as plant parasites.

The rainforest is rich in fauna. Birds such as toucans , humming birds etc.

4. What are the majour cities located on the River Ganga?

ANSWER : The cities of Allahabad, Kanpur, Varanasi, Lucknow, Patna and Kolkata.
Long Question Answers

1. Give an Account of the life of the people in Ganga Brahmaputra Basin.

ANSWER : The basin area has varied topography. The environment plays a dominant role in the
distribution of the population. The mountain areas with steep slopes have inhospitable terrain.
Therefore less number of

people live in the mountain area of the Ganga-

Brahmaputra basin.The plain area provides the mostsuitable land for human habitation. The soil is
fertile.Agriculture is the main occupation of the people where flat land is available to grow crops.

2. Write four features of slash and burn agriculture.

ANSWER : Slash and Burn is a way of cultivating land where farmers clear a piece of land by slashing or
cutting down trees and bushes.

These are then burnt, which releases the
nutrients into the soil.Now crops are grown in

this cleared field for a few years.After repeatedly




using the patch of land, the soil looses its nutrients. So it is abandoned. Then they clear another plot of
land to plant. In the mean time young trees grow in the old field. In this way soil

fertility is restored.People can then return to it and start cultivating it again.

(I) Paddy is grown in Ganga Brahmaputra plains. Give reason.

ANSWER : Paddy is grown in the Ganga-Brahmaputra plains the availability of sufficient amount of
water in this area.

Paddy requires fertile alluvial soil and much water to grow which is easily available in this plain.
The rainfall and temperature also support the growth of paddy.

(1) . Give two reasons why the Ganga Brahmaputra Basin is thickly populated

ANSWER : The plain area provides the most

suitable land for human habitation. The soil is fertile. Agriculture is the main occupation of the people
where flat land is available to grow crops. The density of population of the plains is very high.

(1) . The rainforests are depleting.

ANSWER : (i) The rainforests are depleting due to following reasons:

- The indigenous population was pushed out for the developmental activities which is leading
to the the destruction of the rainforests.

- Large scale deforestation for construction of roads, industries and houses.

-> For getting wood from forests in order to increase economical profit.

SOURCE BASED QUESTION ANSWERS :

The plain is the most suitable area for habitation and its population density is very high, because the
land is flat and the soil is fertile, and agriculture is the main occupation of the The

Ganga-Brahmaputra plain has many big cities and towns on the banks of river Ganga such

as Allahbad, Kanpur, Varanasi, Lucknow, Patna, and Kolkata, all of which have a population of more than
ten lakhs (one million).The wastewater from the city's industries is discharged into the

rivers, and this pollutes them.The transport system in the basin is well-developed, with railways and
roadways connecting important towns and villages and waterways connecting towns that are on the
banks of rivers.Kolkata is an important international port on the river Hooghly,

and there are also many airports in the plains. Tourism is another important activitie.
Q1 is the main occupation of the The

Ganga-Brahmaputra plain .




(A) Fishing

(B) Trade

(C) Agriculture

ANSWER : C Agriculture

Q. 2 What are the majour cities located on the River Ganga?
ANSWER: Allahabad, Kanpur, Varanasi, Lucknow, Patna and Kolkata.
Q. 3 Named the international port on the river Hooghly .

(A) GOA

(B) Kolkata

(C) Mumbai

ANSWER : B Kolkata

Map skills.

(i) On an outline map of the Indian Sub-continent, draw the rivers Ganga and Brahmaputra

(ii) On the political map of South America, draw the equator. Mark the countries

through which the equator passes.




Chapter 9

Life in the Deserts
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GIST OF THE LESSON

Desert is an arid region characterized by extremely high or low temperatures and has scarce
vegetation.

¢ Depending on the temperature, there can be hot deserts or cold deserts.

* The Hot Desert-Sahara:

(i) Sahara Desert in Africa is the world’s largest hot desert.

(ii) It touches 11 countries and has got gravel plains and elevated plateaus with bare

rocky surface.

(iii) The climate of Sahara is scorching hot and parch dry with temperature as high as

50°C.
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(iv) The nights are freezing cold with temperature nearing zero degrees.

(v) Vegetation in the Sahara Desert includes cactus, date palms and acacia. Camels,
hyenas, jackals, foxes, scorpions, snakes and lizards are the main animal species found
here.

(vi) Despite its harsh climate, Sahara is inhabited by various groups of people. The main
groups are Bedouins and Tuaregs.

(vii) The oasis in the Sahara and the Nile Valley in Egypt supports settled population.

(viii) The discovery of oil is constantly transforming this region. Other important minerals
found here are iron, phosphorus, manganese and uranium.

(ix) More and more nomadic tribes are taking to city life.

¢ The Cold-Desert-Ladakh:

(i) Ladakh is a cold desert lying in the Great Himalayas, on the eastern side of Jammu and
Kashmir.

(ii) The altitude in Ladakh varies from 3,000 m in Kargil to more than 8,000 m in
Karakoram.

(iii) The area experiences freezing winds and burning hot sunlight.

(iv) Due to high aridity, the vegetation is sparse. Groves of willows and poplars are seen in
the valleys.

(v) The animals of Ladakh are wild goats, wild sheep, yak and special kinds of dogs.

(vi) The animals are reared as they provide milk, meat and hides.

(vii) The population consists of either Muslims or Buddhists.

(viii) Some famous Buddhist monasteries are Hemis, Thiksey, Shey and Lamyuru.

(ix) In summer season, the people are busy cultivating barley, potatoes, peas, beans and
turnips.

(x) Tourism is a major activity with several tourists streaming in from within India and
abroad.

(xi) People of Ladakh have over the centuries learnt to live in balance and harmony with

nature.




MULTIPLE CHOICE QUESTIONS

1. Sahara Desert is located in the part of Africa :

(a) South

(b) North

(c) East

ANSWER : B North

2. Days are unbelievably hot and the nights may be freezing cold in ---- areas.
a) Deserts

b) Plains

¢) Mountains

ANSWER : A Deserts

3. Important river of Egypt is river.

a) Hwangho

b) Nile

c) Indus

ANSWER : B Nile

4. Bedounis and Tuerags are the nomadic groups of Continent.
a) Asia

b) Australia

c) Africa

ANSWER : C Africa

is the Capital of Ladakh

a) Ladakh

b) Leh

c) Gilgit

ANSWER : B. Leh

6. The National Highway 1A connects Leh to Kashmir valley through---- pass

a) Zoji La
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b) Rohtang la.

c) Baralachala

ANSWER : A Zojila

7. Buddhist monasteries in Ladak are called as
a) Gompas

b) Meadows

c) Glacier

ANSWER : A. Gompas

10. Ladakh is lying in the Himalayas.

a) Middle Himalayas

b) Greater Himalayas

c) Lesser Himalayas

ANSWER : B. Greater Himalayas

VERY SHORT ANSWER QUESTIONS

1. In which continent Sahara Desert is there ?
ANSWER : Africa

2. Which is the largest desert in the world?
ANSWER : Sahara Desert

3. How many countries the Sahara Desert touches in Africa ?
ANSWER : Eleven countries

4.Name the nomadic tribes of Sahara Desert ?
ANSWER : Bedounis and Tuerags

SHORT ANSWER QUESTIONS

1. Name the Important rivers flow in Ladakh.

ANSWER : Several rivers flow through Ladakh. The most important river is the Indus. The rivers form
deep valleys and gorges. Several glaciers are found in Ladakh.

2. How oasis is formed ?

ANSWER : Depressions are formed when the wind blows away the sands. In the depressions where
underground water reaches the surface,




an oasis is formed.
3.What are the climatic conditions of the Ladakh
desert ?

ANSWER : Due to its high altitude, the climate is extremely cold and dry. The air at this altitude is so thin
that the heat of the sun can be felt intensely. The day temperatures in summer are just above zero
degree and the night temperatures well below —30°C. It is freezing cold in the winters when the
temperatures may remain below —40°C for most of the time.

4.Which are the crops grown in Sahara Desert ?

ANSWER : Crops such as rice, wheat, barley

and beans are also grown. Egyptian cotton, famous worldwide is grown in Egypt.
5. Name the places where you will find oil refineries in north part of Africa.

ANSWER : The discovery of oil —a product in great demand throughout the world. In Africa Algeria,
Libya and Egypt are famous for oil refineries.

LONG ANSWER QUESTIONS
1.Distinguish flora and fauna of Ladakh and Sahara.

ANSWER : LADAKH DESERT : Due to high aridity, the vegetation is sparse. There are scanty patches of
grasses and shrubs for animals to

graze. Groves of willows and poplars are seen in the valleys. During the summers, fruit trees such as
apples, apricots and walnuts bloom. Several species of birds are sighted in Ladakh. Robins, redstarts,
Tibetan snowcock, raven and hoopoe are common. Some of these are migratory birds. The animals of
Ladakh are wild goats, wild sheep, yak and special kinds of dogs.

SAHARA DESERT : Vegetation in the Sahara desert includes cactus, date palms and acacia. In some places
there are oasis — green islands with date palms surrounding them. Camels,hyenas, jackals, foxes,
scorpions, many varieties of snakes and lizards are the prominent animal species

living there.
2. Explain the activities of Nomadic people of Sahara Desert.

ANSWER : These groups are nomadic tribes rearing livestock such as goats, sheep, camels and horses.
These animals provide them with milk, hides from which they make leather for belts, slippers, water
bottles; hair is used for mats, carpets, clothes and blankets. They wear heavy robes as protection against
dust storms and hot winds.

COMPETENCY BASED QUESTIONS :

1. Why Chiru or the Tibetan antelope become endangered species.?




ANSWER : It is hunted for its wool known as shahtoosh, which is light in weight and extremely
warm.

2. Why climate is too cold in Ladakh ?

ANSWER : Due to its high altitude, the climate is extremely cold

and dry.

3. Why Ladakh gets low rainfall ?

ANSWER : As it lies in the rain shadow of the Himalayas, there is little rainfall, as low as 10 cm every
year.

SOURCE BASED QUESTION ANSWERS :

The oasis in the Sahara and the Nile Valley in Egypt supports settled population. Since water is available,
the people grow date palms. Crops such as rice, wheat, barley and beans are also grown. Egyptian
cotton, famous worldwide is grown in Egypt. The discovery of oil — a product in great demand
throughout the world, in Algeria, Libya and Egypt is constantly transforming the Sahara desert. Other
minerals of importance that are found in the area include iron, phosphorus, manganese and uranium.

Q.1 Name the longest river of the world ?

ANSWER : Nile River

Q. 2 Name the places where you will find oil refineries in Sahara Desert ?
ANSWER : Algeria, Libya and Egypt

Q. 3 Which are the food crops grown in Sahara Desert ?

ANSWER : Food Crops such as rice, wheat, barley and beans are grown.
Q.4 List some important minerals found in Sahara desert.

ANSWER : 1. Iron

2. Phosphorus

3. Manganese

4. Uranium.

Map skills.

(i) On the outline map of Africa, mark the Sahara desert and any four countries around it.

(ii) On the outline map of India, mark the Karakoram Range, Zanskar Range,Ladakh and Zoji La pass
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. Plays important role in
deciding which stories
to focus on and decides
what is newsworthy .

. Plays vital part in our
lives and in shaping our
thoughts.

Chapter 6

Understanding Media

e In democracy media
plays a very important
role.

e Through media, citizens
come to knowabout the
government works .

e Government can also
use ‘ Censorship’ on
certain things .

Understanding
Media

Gist of Lesson

. Both print and electronic media have
played an important role in social
change.

. Changing technology has helped
media to reach more people.

. Technology has improved the quality
of sound and images that we see.

. Diverse innovations in mass-media
are expensive. It costs a lot of money.

. To meet this cost, media needs
cash.

. Media earns cash by advertising
different things.

Media refers to all means of communication, everything ranging from a phone call to

the evening news on TV can be called media. TV, radio, and newspapers are forms

of media. Since they reach millions of people across the world they are called mass

media.

Media is the plural form of the word ‘medium’ and it describes the various ways

through which we communicate in society.

Media and Technology

¢ Life without media is difficult. Cable TV and the Internet are recent phenomena.

¢ Both print media and electronic media have played an important role in social change.
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¢ Changing technology or machines help media to reach more people.

¢ Television has enabled us to think of ourselves as members of the global people.

¢ |t is the responsibility of the media to present a fair and balanced report.

¢ Media is far from being independent. This is because of the control of the government
over media called censoring and because big business houses control the media.

¢ An independent media means that no one should control and influence its coverage
and news.

Media and Money

¢ The different technologies that mass media use are expensive.

¢ In a news studio, it is not only the newsreader who needs to be paid but also a
number of other people who help put the broadcast together.

¢ A lot of money is spent on getting the latest technology. To meet this cost, it needs
money.

¢ Media thus has come to be owned by big corporate.

¢ Media, therefore, uses advertising as a tool to raise revenue.

Media and Democracy

¢ Media plays a very important role in providing news and discussing events taking
place in the country and the world.

* New stories of media inform people about important events in the country.

e Some important ways by which people can take about important events in the country

are organizing public protests, starting a signature campaign, etc.

Setting Agendas

* The media also plays an important role in deciding which stories to focus on.

¢ By focusing on particular issues, it influences and shapes our thoughts. It is said the
media sets the agenda for people.

* Very recently, the media reported alarming levels of pesticides in cold drinks. This
report led to safety standards being set for colas.

¢ Media plays a very important role in our lives as it tells us about working of the

government.
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* Freedom of expression should be given to media to report events independently.
Media is the plural form of the word ‘Medium’. It describes the various ways through
which we communicate in society.

Media refers to all means of communication, everything ranging from a phone call to the

evening news

J
~

Multiple choice Question

1. Lighthouse of democracy is

(a) Publish

(b) Media

(c) Print

(d) Press

Ans. (b) Media

2. What is local media

(a) Media run by local groups intended to cover local issues of people in remote areas
(b) Media run by state groups intended to cover local issues of people in remote areas
(c) Media run by national groups intended to cover local issues of people in remote areas

(d) Media run by international groups intended to cover local issues of people in remote areas




Answer- a. Media run by local groups intended to cover local issues of people in remote areas
3. canreach millions of people because they use certain technologies
(a) Newspapers, television and telephone

(b) Newspapers, Mobile and telephone

(c) Newspapers, television and radio

(d) Newspapers, Mobile and radio

Answer- (c) Newspapers, television and radio

4. Media is the plural form of the word

(a) Medium

(b) Midia

(c) Mediuom

(d) Medio

Ans: -(a) Medium

5. This refers to a thing or service that has been made for being sold in the market.
(a) Consumer

(b) Selling

(c) Production

(d) Product

Ans:- d. Product

6. Which of the following is example of print media

(a) Radio and Magazine

(b) Newspaper and Magazine report

(c) Television and Newspaper

(d) Telephone and Newspaper

Ans:- (b) Newspaper and Magazine report

7. Branding actually came from

(a) Cattle grazing

(b) Sheep grazing

(c) Cow grazing
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(d) Buffalo grazing

Ans:- (a) Cattle grazing

8. When a large number of people come together and openly state their opposition to some issue.
Organising a rally, starting a signature campaign, blocking roads etc. are some of the ways in which
this is done

(a) Violence

(b) Riot

(c) Broadcast

(d) Public protest

Ans:- (d) Public protest

9. Objective of media are as follows

(a) Highlight the visits of a famous political party

(b) New of major political events

(c) Highlight one side of the aspects

(d) Separate news from opinion

Ans:- (d) Separate news from opinion

10. Fill in the blanks with appropriate words.

1. Independent media plays a role in a democratic country.
are a recent phenomena in the media.

3. Mass media earns money through ................. .

4. With typewriters, journalism underwent a change in the .................... .

5. At times media is prevented from publishing a story, this is called ........cccceueueeee. .

Ans:- Answer:

1. significant

2. Cable T.V., Internet

3. advertisements

4. electronic, 1940’s

5. censorship.

State whether the given statements are True or False.
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1. Media is the plural form of the word middle.

2. Television has made us think of ourselves as global citizens.

3. Changing Technologies help media to reach more people.

4. Balanced report discusses only one point of view or one side of story.

5. Media can be divided into print media and electronic media.

Answer:

1. False

2. True

3. True

4. False

5. True

Very Short Answer Type Extra Questions

(1.) What do mean by social advertisement?

Solution:

Social advertisement refer to advertisement made by the State or private agencies have a large
message for society.

(2) What do you mean by branding ?

Solution:

Stamping a product with particular name and sign.

(3) What is the role of advertising in our in two pints.

Solution:

Advertisements aim to get to buy a particular brand. This basically means that after we see an
advertise meant we should want to buy the brand.

(4) What do toy by social advertisement ?

Solution:

Social advertisements refer to advertisements made by the State or Private agencies that have a

large message for society.

(5) What do you understand by the term ‘censorship’ ?

Solution:
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It refers to the powers that government has disallow media from publishing or showing certain
stories.

Short Answer Type Extra Questions

(1) How does media creates public opinion.

Solution:

Media creates public opinion through newspapers, Tv channels, through which people gets aware
and also built their opinion and take actions.

(2) Describe any print media.

Solution:

We consider Newspaper as print media, because it is printed daily with all different daily. To
awareness to the people of the country

(3) Discuss the various forms of electronic and its importance.

Solution:

The electronic media comprises radio, television, internet and cinema, it is very effective as;

(a) it is able to create an audio — visual impact on viewers

(b) It makes people aware of happening across the country

Long Answer

Q.1. Describe relationship between media and technology.

Answer:

Relationship between Media and Technology:

¢ Today it is difficult for us to imagine our life without the media.

e Cable television and the widespread use of the Internet is a recent phenomenon.
¢ They are less than twenty years old.

¢ The technology that mass media uses keeps changing.

* Newspapers, television and radio reach million of people because they use certain
technologies.

¢ Newspapers and magazines are also the print media.

¢ TV and radio are termed as the electronic media.

¢ Newspapers are called print media, because they give news in print.
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* Naming of media as print media is related to the different technologies that they use.

¢ The technology that mass media uses has changed over the years and

Q.2. What is the role of media in democracy?

Answer:

Media plays an important role in providing news and discussing events in the country and
the world. This helps citizens to learn about functioning of government. Citizens can take
action based on the news. They can write letters to ministers or organise a public protest.
Signature campaign may be stated to make government rethink on certain issue.

Q.3 .What is a balanced report?

Answer:

¢ If we read either newspaper we would know only one side of the story.

* From the story in the News of India we term the protestors as a nuisance.

¢ On the other hand, the story in the India Daily, tells us that the protests are because a
lot of livelihoods will be lost, relocation efforts are inadequate.

¢ Neither of these stories is a balanced report. A balanced report is one that discusses

all points of view of a particular story and then leaves it to the readers to make up their
minds.

e Source Based Question / PISA/ CCT

¢ Media and democracy

¢ The media plays a very important role in providing news and discussing

events taking place in the country and the world. Thus, it is an essential part

of

¢ a democratic country. Media helps citizens in analysing the work that the

government does. Based on it, citizens can take action. They can do this by

¢ writing letters to the concerned minister, organising a public protest, starting a
signature campaign, asking the government to rethink its programme,

* etc.

¢ Balance Report

¢ A balanced report is one that discusses all points of view of a particular story
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and then leaves it to the readers to make up their minds. Writing a

¢ balanced report depends on the independence of the media. An independent
media means that no one should control and influence its coverage of news.

No one should tell the media what can be included and what should not be
included in a news story. In reality, the media is far from independent because
of two reasons

¢ 1. Government has a good hold over the media. It can prevent a news item, or
scenes from a movie, or the lyrics of a song from being shared

¢ with the larger public. This is referred to as censorship.

¢ 2. The media often focuses on a particular aspect of a story because they
believe this makes the story interesting and increases public support on an
issue.

¢ Question 1. Which of the following plays an important role in discussing the happenings in
the world?

Question 2. What is a Balanced Report?

Question 3. What do you understand by independent media?

Question 4. Why is the media not free?




Chapter 7

Market around us

. Market in urban areas
are called shopping
complexes.

. Multi-stoeyad air
conditioned buildings
with shops are called
. Goods now a day can malls.

be ordered through
internet and are
delivered at doorstep. . Do not have permanent shops.

. Held on specific day of the week .

. Buying and selling . Things are available at cheaper rates.
takes places in different
ways and not necessary

through shops in Market

market.

around us

] . We buy milk , groceries, eatables,
® Alltracks in market earn medicines from such shops .

unequal amounts .
. Advantage : Near our home, buyer

and seller know each other .

Market Around Us

A market is where buyer and seller are involved in the sale and purchase of goods. It
establishes a link between the producer and the consumer.

There are different kinds of markets namely; weekly market, shops, shopping
complex or mall.

profit earned by different market varies. It depends on the type of investment made
by seller and buying capacity of the customer.

In present times, goods are also sold by online marketing and home delivery.




Weekly Market

¢ A weekly market is so-called because it is held on a specific day of the week.

¢ Shops may be permanent or hawker type. They provide different goods and
sometimes even on credit.

* There are thousands of such markets in India. People come here for their everyday
requirements.

¢ Traders set up shops for the day and then close them up in the evening.

e Many things are available in a weekly market at cheaper rates.

¢ Weekly markets even have a large number of shops selling the same goods which
means there is a competition among them.

¢ One advantage of weekly markets is that most of the things of need are available in
one place.

Shops in the Neighbourhood

¢ There are many shops that sell goods and services in our neighbourhood.

¢ We may buy milk from the dairy, grocery from the departmental stores, etc.

¢ These shops are useful as they are near our home and we can go there on any day of

the week.

Shopping Complexes

* There are other markets in the urban area which have many shops at one place called
a shopping complex.

¢ In many urban areas, we also have multi-storied air-conditioned buildings with shops
on different floors as malls.

¢ Malls sell branded and non branded goods and invest a huge amount of money in
their shops.

Chain of Markets

* The people in between the producer and the final consumer are traders.

¢ The person who produces goods in the producer. The person who buys goods from
him is the wholesaler. The wholesaler gives it to the traders who gives it to the

consumer.
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¢ This trader is known as the retailer.

¢ The retailer could be a trader in a weekly market, a hawker, neighbourhood shop
owner in the shopping complex, etc.

Markets Everywhere

¢ All markets work in a space in a particular manner and time.

¢ Buying and selling take place in different ways, not necessarily through shops in the
market.

* There are even markets we may not be aware of. This is because a large number of
goods that we don’t use directly are also bought and sold. For example a car factory
purchases engine, parts, gears, petrol tanks, axles, wheels, etc. from various other
factories. We, however, do not get to know about either the manufacturers or the
sellers involved in it.

¢ market is a place where we go to buy many things such as rice, toothpaste,
clothes, notebooks, bread, etc.

¢ There are many kinds of markets—shops, hawker’s stall in our

neighbourhood, a weekly market, shopping complex and mall.

¢ The weekly market is held on a specific day of the week. Such markets do not

have permanent shops. Traders set up shops for the day and then close them

up in the evening. Things in weekly markets are available at cheaper rates.

We can bargain easily. Another feature of these markets is that most of the

things that we need are available at one place.

¢ We also find shops in our neighbourhoods. These shops sell things of daily
use. We may buy milk from the dairy, groceries from departmental stores,
stationery, eatables or medicines from other shops. Shops in the
neighbourhood may be permanent and roadside stalls. Neighbourhood shops
are very useful. As the buyer and seller know each other, these shops also
provide goods on credit.

* Apart from these markets, there are shopping complexes and malls too which

are usually found in urban areas. These urban shops are large multi-storeyed
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air-conditioned buildings where one can get both branded and non-branded
goods. Branded goods are expensive and therefore a very small group of
people can afford to buy them. These shops are usually not meant for the
common people.

¢ The goods that we purchase in different types of shops are produced in
factories, on farms, and in homes. However, we don’t buy directly from the
factory or from the farm. The producers are also not interested in selling us
small quantities.

* The trader comes in between the consumer and the producer. The wholesale
trader buys goods in huge quantities from the producer and then he sells
these goods to the retailers. These retailers finally sell different articles to
consumers. Thus, it is through these links of traders that goods reach far

away places.

¢ This is the age of the Internet. One of the major benefits of the Internet is that
we can buy things of our need without going to the market. We can place
orders for a variety of things through the phone and the Internet and the
goods are delivered at our home.

¢ Medical representatives are also engaged in the selling of goods. Thus,
buying and selling take place in different ways.

¢ There are also markets that we may not be aware of. This is because a large
number of goods are bought and sold that we don’t use directly. A car factory
purchases engines, gears, petrol tanks, wheels, etc. from various other
factories. We do not usually see these types of buying and selling.

* There is a great difference between the shop owners in a weekly market and
those in a shopping complex. The shop owners in a weekly market are small

traders with little money to run the shop but the owners of shopping

complexes or malls are big businessman, with a lot of money

¢ One thing is clear that the weekly market trader earns little compared to the

profit of a regular shop owner in a shopping complex. Thus, we don’t see
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equality in market places.

¢ So, far buyers are concerned, they are also not at all equal. There are many
who are not able to afford to buy even the cheapest goods while others are
busy shopping in beautiful malls.

e Market: A Market is a place where buying and selling take place.

* Weekly Market: It is held on a specific day of the week. Such markets do not
have permanent shops.

e Mall: It is a large multi-storeyed air-conditioned building with shops on
different floors. Malls are found in urban areas.

¢ Chain of Market: A series of markets that are connected like links in a chain
because goods or products pass from one market to another.

* Wholesale: This refers to buying and selling in large quantities most products including vegetables,
fruits and flowers have special wholesale market.

Multiple choice questions

1.What is the advantage of Chain Markets?

(A) produced in one place reaches the people everywhere.

(B) Only brand products are encouraged

(C) Chain markets are only in urban areas

(D) None of them

Ans: - (A) What is produced in one place reaches the people everywhere.
2.Who sells final goods to the consumer?

(A) Wholesaler
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(B) Retailer

(C) Producer

(D) None of them

Ans:- (B) Retailer

4.Who is the first one to buy goods in large quantities?

(A) Retailer

(B) Consumer

(C) Wholesaler

(D) Transporter

Ans:- (C) Wholesaler

5. Why are many things in a weekly market cheaper?

(A) Weekly markets have a large number of shops selling the same goods which means there is
competition among them.

(B) Unlike in case of permanent shops, weekly markets incur much less expenditure

(C) Both '1' and

(D)None of them

. Ans:- (A) Weekly markets have a large number of shops selling the same goods which means there
is competition among them.

6.How can buying and selling take place without going to the marketplace?

(A) Through Internet

(B) Through phone by placing orders

(C) Both '1' and '2'

(D) None of them

Ans:- (C) Both '1'and '2'

7.Weekly market stands for:

(A) The market that is held in the first day of the week.

(B) The local market.

(C) The market in the city. The market that is held on the specific day of the

week.
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Ans:- (C) The market in the city. The market that is held on the specific day of the
week.

8.The shops that sell goods and services in the neighbourhoods are called as .

(A) Central market.

(B) Big bazaar.

(C) Super market

(D) Neighbourhood shops.

Ans:- Neighbourhood shop

Short Answer

1. Why is there a competition among the shops in the

weekly market?

Ans:- There are many shops that sell the same goods this create competition among them.

2. Who is Sameer? What does he do?

Ans:- He is a small trader in weekly market . He buys clothes from a large trader and sell them in a
weekly market.

3. Define term retailer.

Ans:- A person or company who sells goods to the public in a shop.

4. Write the different types of markets

Ans:- Weekly market , shops, shopping complex or mall.

Q.5. What are the different kinds of shops that you find in your

neighbourhood? What do you purchase from them?

Ans:- Departmental store other shops such as stationary , medicine , vegetables, howkers , fruit
vendor etc. we purchase daily uses things from these shops.

Long Answer

Q.1. Why is a weekly market called so? How do they work?

Answer:

* A weekly market is called so because it is held on a specific day of the week.

¢ Weekly markets do not have permanent shops.

* Traders set up shops for the day.
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¢ They close them up in the evening.

* They set up at a different place the next day.

¢ There are thousands of such markets in India. People come here for their
everyday needs.

Q. 2. What are the two types of sellers in our neighbourhood?

Answer:

There are different kinds of sellers even in our neighbourhood markets.
¢ Some of them have permanent shops.

* The others sell their goods on the roadside, as hawkers.

¢ Some move from one house to another to sell their goods.

¢ Some make home delivery of goods free of cartage charges.

Q.3 Describe shopping complexes and malls.

Answer:

Shopping Complexes and Malls

* There are other markets in urban areas.

¢ They have many shops, popularly called shopping complexes.

* These /lays in many urban areas there are large multi-airconditioned buildings

with shops on different floors.

* They are known as malls.

¢ In these urban markets, we get both branded and non-branded goods.

¢ They have restaurants and eating places.

¢ They have multilevel parking.

* They may have multiplex theatres.

Source Based Question

o WEEKLY MARKET

* A weekly market is so called because it is held on a specific

¢ day of the week. Weekly markets do not have permanent shops. Traders set up
¢ shops for the day and then close them up in the evening. Then they may set up at a different

place the next day.
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* There are thousands of such markets in India. People come here for their everyday
requirements.

e Many things in weekly markets are available at cheaper rates. Weekly markets also have a
large number of shops selling

¢ the same goods which means there is competition among them. In weekly markets, these
shop owners store the things they

¢ sell at home. Most of them are helped by their family members and, hence, do not need to
hire workers. One of the advantages of weekly markets is that most things

¢ you need are available at one place. You do not have to go to different areas to buy
different things.

* People also prefer going to a market where they have a choice and a variety of goods.

.

¢ Question 1. What is the weekly market called?

¢ Question-2 What are the advantages of weekly market?

¢ Question-3 Are the shops permanent in the weekly market?

¢ Question 4: Why is there competition in the weekly market?




Chapter 8

A Shirt in the Market

. Receives the finished
product .

. The arrangement
between the merchant
and the weavers is an
apt example.

. Poor depends on the rich for many
things .

A Shirt in the

Market

. The rich and powerful get the
e Merchant supplies the maximum profit .
raw materials .

A Shirt in the Market

Cotton Farmer in Kurnool

e Cultivation of cotton is very expensive and a difficult task.

¢ A small farmer grows cotton on his small piece of land. Once the harvesting is done,
cotton balls are collected.

* These are taken to the local trader as the farmer had borrowed money from the trader

to buy seeds, fertilisers, etc. for cultivation.

¢ Even though the market price is high, the trader buys it at a meagre price from the

farmer.
The Cloth Market of Erode

¢ The bi-weekly market of Erode in Tamil Nadu is one of the biggest cloth markets in the

world.




¢ Cloth made by weavers from all over comes here for sale.

¢ Instructions about the type of cloth to be made are given in advance.

¢ The weavers get yam from the merchants and supply them the cloth.

¢ The arrangement between the merchant and the weaver is termed as a putting-out
system.

¢ |t saves money of the weavers as they do not have to buy yam. Likewise, the problem
of selling the cloth is also taken care of.

 Since weavers do not know the price of the cloth, they are at a loss and get a very
small amount.

The Garment Exporting Factory Near Delhi

¢ Erode merchants send the cloth to garments export centre in Delhi.

¢ The garments factory makes shirts to be sold to the chain of business from the US and
Europe.

¢ They set a standard of quality and time.

¢ Faced with the pressure the garment centre tries to extract maximum work from their
workers of the lowest cost.

¢ Most hired workers are temporary and get a low salary.

The Shirt in the US

¢ The shirts sent from garments export centres are sold in dollars in the US.

¢ The shirts sold at Rs 200 by the garment export centre sell at Rs 1,200 in the US.

* Thus, a chain of markets links the producers of cotton to the buyers at the

supermarket.

Market and Equality

¢ Foreign businessmen make huge profits in the market.

e Garment manufacturers only make moderate profits.

* Weavers at Erode market and small farmers don’t make a huge profit.
* Poor people have no option but to depend on the rich.

¢ Poor are exploited in the market.

¢ Laws should be made to protect the interest of weavers and small farmers.
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Cultivation of cotton is a very complicated and difficult task. It is very expensive too
because it requires high levels of inputs such as fertilisers and pesticides. Farmers,
therefore, have to incur heavy expenses for which they need to borrow money from
the local traders.

The local traders are very clever people. They give loan to such farmers and in turn,
make them promise to sell all their cotton to them. Thus, they take advantage of the
poor financial condition of the farmers. Here, we can give an example of Swapna,
who is also a cotton farmer and takes a loan from a local trader to meet all the
expenses on cotton cultivation. As a result, she has to sell all her cotton to that local
trader in low price. Thus, farmers, in spite of their hard labour, never get a fair price.
A large variety of cloth is sold in Erode bi-weekly cloth market in Tamil Nadu. The
cloth that is made by weavers is also brought here for sale. This cloth is bought by
the cloth merchants and other traders.

There are other weavers who make cloth under the instruction of the cloth
merchants. These merchants supply cloth on order to garment manufacturers and
exporters around the country. They purchase the yam and give instructions to the
weavers about the kind of cloth that is to be made.

The weavers are happy because they do not have to spend their money on the
purchase of yarn. They also get rid of the problem of selling the finished cloth. But at
the same time, they lose their freedom. They begin to depend on the merchants both
for raw materials and markets.

The arrangement between the merchant and the weavers is termed as the puttingout system.

The Erode merchant supplies the cotton cloth produced by the weavers to a

garment-exporting factory near Delhi. The garment exporting factory use the cloth to
make shirts to export them to foreign buyers. These foreign buyers are powerful
business persons. They demand the lowest price from the supplier. In addition, they
set high standards for quality of production and timely delivery.

These conditions put the exporter in a light situation. Still, they accept the deal,

because they have nothing to do at the cost of their own benefit. They start cutting
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costs. They get the maximum work out of the workers at the lowest possible wages.
Thus, their profit remains intact. The sufferers are always the workers/labourers who
hardly fulfil their day-to-day needs. The weavers too are an exploited lot. Thus,
everyone does not gain equality in the market. Some make huge profits, some make
moderate profits. But nobody thinks about those who are working at the root level.
They remain poor in spite of their hard labour.

Ginning Mill: It is a factory where seeds are removed from cotton bolls. The cotton is
pressed into bales which are sent for spinning into thread.

Putting-Out system: In this system, the cloth merchant supplies the raw material to the
weavers and receives the finished product.

Exporter: One who sells goods in foreign countries.

Profit: The amount that is left or gained from earnings after deducting all the costs.

Shirt in the Market

Class 7[NS a

| - D' 14

Multiple choice Question

Q.1. How much amount did Swapna borrow to buy seeds,
fertilizers, pesticides etc.?

(a) X 1500

(b) X 2000

(c) X 2500

(d) 3000

Q.2. Where is cotton sold in Andhra Pradesh?
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(a.) Kurnool

(b) Hyderabad

(c) Vijaywada

(d) None of these

Ans:- (a.) Kurnool

Q.3 Which is a factory where seeds are removed from cotton
bolls and then spun into thread ?

(a) Ginning mill

(b) Cloth mill

(c) Handloom factory

(d) Power loom factory

Ans:- (a) Ginning mill

Q.4. What promise did Swapna make to the traders?
(a) Not to give interest to him

(b) To give heavy amount of interest

(c) To sell her all cotton to him

(d) None of these

Ans:- To sell her all cotton to him

Q.5. The amount that is left or gained from earnings after
deduction of all the costs is called

a) Losses

(b) profits

(c) investment

(d) all of these

Ans:- b . profits

Short answer

Q.1 Where does the story of a shirt begin and where does it end?

Answer:

¢ The story of the shirt begins with the production of cotton.
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¢ It ends with the sale of a shirt.

Q.2. What is putting out system?

Answer:

Putting out is a system in which the weavers weave clothes at home with the help of
family members and charge wages from the merchant. The merchants in turn supply
the raw material and pay the wages and take the finished product.

Q.3 How is the merchant benefited in this system?

Answer:

The merchant gives the orders and raw material. They get the cloth at low price and
sell to garment factories at high price.

Q.4 How does the exporter meet pressures from foreign buyers?

Answer:

Exporters tries their best to meet the conditions set by the buyers.

¢ They try to cut costs

¢ Get maximum work out of the workers at lowest possible wages.

e Thus maximise their profits and sell to foreign buyers at cheap price.

Long Answer

Question 1. Does she get the right price from the trader?

Answer:

No, she does not get the right price.

* Her cotton is weighed and she is paid Rs. 1500/ quintal.

¢ She gets Rs. 6000/. Out of this Rs. 3000/ were deducted as loan and interest.
¢ She is told that cotton is selling cheap as there is lot of cotton in the market
¢ Her efforts of four months and clean and fine cotton also did not change the
mind of trader,

¢ She does not argue. Though her earning is just a little more than a wage
labourer.

Q.2. Give an account of the cloth market of Erode.

Answer:
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The Cloth Market of Erode

¢ Erode has a bi-weekly cloth market.

¢ This market is one of the largest cloth markets in the world.

* A large variety of cloth is sold in this market.

¢ Cloth that is made by weavers in the nearby villages is also brought here for
sale.

¢ Offices of cloth merchants who buy this cloth are around the market.

¢ Other traders from many south Indian towns also come and purchase cloth
here.

¢ On market days weavers bring cloth that has been made on order from the
merchant.

¢ These merchants supply cloth on order to garment manufacturers and
exporters around the country.

* They purchase the yam and give instructions to the weavers about the kind of
cloth to be made.

What is Weavers cooperative? How does it work?

Answer:

Weavers are paid very little under the ‘putting-out system. Weaver’s cooperative is a
way of reducing their dependence.

¢ In a cooperative people with common interests come together and work for
mutual benefit.

* They take activities collectively like procuring yam, distribution among weavers.
¢ They do the marketing also.

¢ The role of merchant is reduced and weavers earn higher income.

* Government also helps the cooperative by buying cloth from them at
reasonable rates

¢ Tamil Nadu government runs a Free School Uniform programme in the state.

The cloth is procured from power loom weaver’s cooperatives.’

* Government buys cloth from handloom weaver’s cooperatives and sell it
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through ‘Co-optex stores

Source Based Question

¢ The Cloth Market of Erode

¢ 1 The bi-weekly market of Erode in Tamil Nadu is one of the biggest

¢ cloth markets in the world. Cloth made by weavers from all over comes here for sale.
Instructions

¢ about the type of cloth to be made are given in advance. The weavers get yam from the
merchants and supply them the cloth.

¢ The arrangement between the merchant and the weaver is termed as a putting-out system.
It saves money of the weavers as they do not have

¢ to buy yarn . Likewise, the problem of selling the cloth is also taken care of. Since weavers
do not know the price of the cloth, they

¢ are at a loss and get a very Most hired workers are temporary and get a low salary.

o

¢ Question 1. In which state is the Erode market located?

¢ Question 2. What is the arrangement between the merchant and the weaver called?

e Question 3. What are the advantages of extrusion system?

e Question 4. Which is the largest textile market in the world?




Chapter—9

Struggles for Equality

. It recognize the
equality of all persons.

. Women struggle and
movements for equality
is an example.

. The Indian constitution has been
reffered to as living documents many
times.

Struggles for
Equality

. Is a federation of fish workers are
cooperative.

. poverty and lack of the
resources are the key . The sangh organized rallies and a
reasons for inequality chakka jam to fight for their rights.

Struggle for Equality

The Indian Constitution recognizes all Indians are equal before the law and states

that no person discriminated against because of their religion, sex, caste, or whether

they are rich or poor.
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All adults in India have equal rights to vote during elections, and this ‘power over the
ballot box’ has been used by people to elect or replace their representatives for
many years.

However the feeling of equality on the basis of ‘one vote one person’ in reality does
not extend to Poor people face negligence and these people do not get justice in
matters of health, education, etc.

Domestic helpers, small farmers, and many others are forced to work in hardships
due to poverty a shortage of resources.

People also face inequality on grounds of religion, caste, and gender in India.
Struggles for Equality

¢ Poverty and discrimination have created inequalities in our society.

e Throughout the world, people are fighting for their rights and equality, trying to end the
discriminator which they face.

* Women'’s struggle and movements for equality was one such group fighting for
equality.

¢ The Tawa Matsya Sangh in Madhya Pradesh is also an example of people coming
together to fight an issue.

* There are many other struggles such as those of beedi workers, fishermen,

agricultural laborers, si dwellers, etc. who have been fighting for equality and justice.

Tawa Matsya Sangh (TMS)

¢ It is a federation of fishermen’s cooperatives that fights for the rights of forest dwellers
who have

e displaced from Satpura forest located in Madhya Pradesh.

¢ With the beginning of the construction of Tawa Dam in 1958 till its completion in

1978, large parts the forest and agricultural areas were submerged. Thus, the forest
dwellers had to suffer a set bad they earned very little.

¢ To government gave rights for fishing in the Tawa reservoir but to only private
contractors in 1994

¢ When the contractors started exploiting the poor villagers, they came together to form
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a union and up an organization to protect their rights, which was called Tawa Matsya
Sangh.

¢ Rallies and Chakka jam were organized time and again. In response, the government
granted fish; rights to the villagers in 1996.

* With the TMS taking over the fishery workers were able to increase their earnings
substantially.

The Indian Constitution as a Living Document

¢ The foundation of all movements for justice and the inspiration for all the poetry and
songs on equals is the recognition that all people are equal

* Movements and struggle for equality in India promote equality.

¢ Indian constitution is a living document recognizing greater equality on existing and
other issues.

¢ |t guarantees dignity, self-respect, and equality, all of which are required in a
democracy.

India is a democracy and the soul of democracy is equality. But we do not see
equality at any place except on the polling day on which every adult citizen of India
enjoys the equal right to vote.

Right from the beginning of the chapter, we have been introduced to persons like
Kanta, Ansari, Swapna, Melani, and so on. These people have to face

discriminations because they lack resources.

Under such circumstances, some people take initiative and start struggles for
equality. Others extend their support for the cause.

In India, there are several struggles in which people have come together to fight for
issues that they believe are important. The methods used by the women’s movement
to raise issues of equality can be mentioned here. Another example can be given of

the Tawa Matsya Sangh in which people came together to fight for an issue.

The Tawa Matsya Sangh is an organization fighting for the rights of the displaced

forest dwellers of Salpura forest in Madhya Pradesh.

The Tawa dam began to be built in 1958 and was completed in 1978. It submerged
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large areas of forest and agricultural land. The forest dwellers were left with nothing.
Some of the displaced people began fishing in the reservoir.

In 1994, the government gave the eights for fishing in the Tawa reservoir to private
contractors. These contractors were not friendly. They began to push out the local
people.

The villagers now stood united and set up Tawa Matsya Sangh (TMS) to protect their
rights.

The TMS organized rallies and a chakka jam demanding their right to continue
fishing for livelihood.

Finally, the government accepted their demand and from Jan. 2, 1997 they began
fishing.

Later on, the TMS set up a cooperative which would buy the catch from the
fishworkers at a fair price. Now, they were able to earn three times more than they
earned earlier.

In a democracy, there are always communities and individuals trying to expand the
idea of democracy and push for greater recognition of equality on existing as well as
new issues. Thus, issues of equality are central to democracy.

The dignity and self-respect of each person can only be realized if he/she has
adequate resources.

Reservoir: An artificial lake where water is collected and kept in quantity for use.

Dam: A dam is built across a river at sites where one can collect a lot of water.

TMS: Tawa Matsya Sangh is an organization fighting for the rights of the displaced

forest dwellers of the Salpura forest in Madhya Pradesh.
Contractor: One that contracts to perform work or provide supplies.
Creative Expression: Writers, singers, dancers, and artists h
Multiple choice Question

What is central to Indian Democracy?

(a) Equality

(b) Discrimination
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(c) Both of these

(d) None of these

Ans:- Equality

What makes people of India equal?

(a) Religion

(b) Sex

(c) Vote

(d) None of these

Ans:- Vote

Deficiency of what makes difficulties for poor to establish their business?
(a) Deficiency of money to buy good resources
(b) Deficiency of efforts

(c) Deficiency of skills

(d) Deficiency of time

Ans:- Deficiency of money to buy good resources
What is the major reason of inequality?

(a) Poverty

(b) Religion

(c) casteism

(d) None of the these

Ans:- a. Poverty

Thousands of people are displaced, what is the reason behind it?

(a) Foundation of dams

(b) Forest areas are declared sanctuaries for animals
(c) Both (a) and (b)

(d) None of the above

Ans:- Both (a) and (b)

Short Answer

Q.1. What does the Indian Constitution recognise? What does it state?
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Answer:

¢ The Indian constitution recognises all Indians as equal before the law.

¢ |t states that no person can be discriminated against because o” his religion, sex,
caste or whether he is rich or poor.

¢ All adults in India have the equal right to vote during elections.

¢ This ‘power over the ballot box’ has been used by people to elect or replace their
representatives.

Q.2.State the main reasons why people do not have equality.

Answer:

e Poverty.

¢ Lack of resources.

¢ Discrimination on the basis of religion, caste and sex.

e Lack of dignity and respect for certain communities.

Q.3. What is TMS?

Answer:

TMS —federation of Fisher worker’s cooperative fights for the rights of displaced forest
dwellers of the Satpura forest in Madhya Pradesh

Q.4. What is important to curb discrimination?

Answer:

Inequality affects poor and marginalised the most. Dignity and self respect of every
individual should be realised to have social and economic equality. We must ensure
adequate resources to support and nurture their families.

Long Answer

Q.1 ‘Issues of Equality Are Central to a Democracy’. Explain the statement.
Answer:

Indian Constitution recognises the equality of all. Constitution helps people in their

struggle for equality through laws and through government schemes

® Every person is equal before law

¢ No one is discriminated against on the basis of religion caste race or gender
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¢ Everyone has access to all public places

¢ Untouchability is abolished

Q.2. How did Tawa Matsya Sangh achieve its goal of fishing right?

Answer:

Achievement of Goal of Fishing Right:

The newly formed Tawa Matsya Sangh (TMS) organised a Chakka jam (road

blockade), demanding their right to continue fishing for their livelihood.

¢ In response to their protests, the government created a committee.

* The committee recommended that fishing rights be granted to the villagers for their
livelihood.

¢ A five-year lease agreement was signed.

¢ With the TMS taking over, the fish workers were able to increase their earnings
substantially because they set up the cooperative which buys the catch from them at a
fair price.

* The cooperative arranges to transport and sell this in markets where they get a good
price.

¢ They have now begun to earn more.

¢ The TMS has also begun giving the fish workers loans for repair and for buying new
nets.

¢ By Managing to earn a higher wage as well as preserving the fish in the reservoir, the
TMS has shown that when people’s organisations get their rights to livelihood, they

can be good managers.

gtQ.3. How was Tawa Matsya Sangh formed?

Answer:

Formation of Tawa Matsya Sangh

* Tawa river originates in the Mahadeo hills of Chindwara district.

¢ It flows through Betul, before joining the Narmada in Hoshangabad.
¢ The Tawa dam began to be built in 1958 and was completed in 1978.

e It submerged large areas of forest and agricultural land.
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* The forest dwellers were left with nothing.

¢ Some of the displaced people settled around the reservoir.

® They apart from their meagre farms found a livelihood in fishing.

¢ They earned very little.

¢ In 1994 the government gave the rights for fishing in the Tawa reservoir to private
contractors.

¢ These contractors drove the local people away and got cheap labour from outside.
* They began to threaten the villagers, who did not want to leave, by bringing in
hoodlums.

¢ The villagers stood united and decided to set up an organisation and do something to
protect their rights. Thus, the Tawa Matsya Sangh was formed.

Civics

Lesson 10

Struggle for Equality

Multiple choice Question

What is central to Indian Democracy?

(a) Equality

(b) Discrimination

(c) Both of these

(d) None of these

Ans:- Equality

What makes people of India equal?
(a) Religion

(b) Sex

(c) Vote

(d) None of these

Ans:- Vote

Deficiency of what makes difficulties for poor to establish their business?

(a) Deficiency of money to buy good resources
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(b) Deficiency of efforts

(c) Deficiency of skills

(d) Deficiency of time

Ans:- Deficiency of money to buy good resources
What is the major reason of inequality?

(a) Poverty

(b) Religion

(c) casteism

(d) None of the these

Ans:- a. Poverty

Thousands of people are displaced, what is the reason behind it?
(a) Foundation of dams

(b) Forest areas are declared sanctuaries for animals
(c) Both (a) and (b)

(d) None of the above

Answer(c) Both (a) and (b)

Follow us on Twitter

Follow us on Google Plus

Short Answer

Q.1. What does the Indian Constitution recognise? What does it state?

Answer:

¢ The Indian constitution recognises all Indians as equal before the law.

¢ |t states that no person can be discriminated against because o” his religion, sex,
caste or whether he is rich or poor.

¢ All adults in India have the equal right to vote during elections.

 This ‘power over the ballot box’ has been used by people to elect or replace their
representatives.

Q.2.State the main reasons why people do not have equality.

Answer:
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e Poverty.

e Lack of resources.

¢ Discrimination on the basis of religion, caste and sex.

e Lack of dignity and respect for certain communities.

Q.3. What is TMS?

Answer:

TMS — federation of Fisher worker’s cooperative fights for the rights of displaced forest
dwellers of the Satpura forest in Madhya Pradesh

Q.4. What is important to curb discrimination?

Answer:

Inequality affects poor and marginalised the most. Dignity and self respect of every
individual should be realised to have social and economic equality. We must ensure
adequate resources to support and nurture their families.

Long Answer

Q.1 ‘Issues of Equality Are Central to a Democracy’. Explain the statement.
Answer:

Indian Constitution recognises the equality of all. Constitution helps people in their
struggle for equality through laws and through government schemes

® Every person is equal before law

¢ No one is discriminated against on the basis of religion caste race or gender

¢ Everyone has access to all public places

¢ Untouchability is abolished

Q.2. How did Tawa Matsya Sangh achieve its goal of fishing right?

Answer:

Achievement of Goal of Fishing Right:

The newly formed Tawa Matsya Sangh (TMS) organised a Chakka jam (road

blockade), demanding their right to continue fishing for their livelihood.
¢ In response to their protests, the government created a committee.

* The committee recommended that fishing rights be granted to the villagers for their
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livelihood.

¢ A five-year lease agreement was signed.

¢ With the TMS taking over, the fish workers were able to increase their earnings
substantially because they set up the cooperative which buys the catch from them at a
fair price.

¢ The cooperative arranges to transport and sell this in markets where they get a good
price.

¢ They have now begun to earn more.

¢ The TMS has also begun giving the fish workers loans for repair and for buying new
nets.

¢ By Managing to earn a higher wage as well as preserving the fish in the reservoir, the
TMS has shown that when people’s organisations get their rights to livelihood, they
can be good managers.

gtQ.3. How was Tawa Matsya Sangh formed?

Answer:

Formation of Tawa Matsya Sangh

e Tawa river originates in the Mahadeo hills of Chindwara district.

¢ It flows through Betul, before joining the Narmada in Hoshangabad.

¢ The Tawa dam began to be built in 1958 and was completed in 1978.

¢ It submerged large areas of forest and agricultural land.

¢ The forest dwellers were left with nothing.

* Some of the displaced people settled around the reservoir.

* They apart from their meagre farms found a livelihood in fishing.

¢ They earned very little.

¢ In 1994 the government gave the rights for fishing in the Tawa reservoir to private
contractors.

¢ These contractors drove the local people away and got cheap labour from outside.
¢ They began to threaten the villagers, who did not want to leave, by bringing in

hoodlums.
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* The villagers stood united and decided to set up an organisation and do something to

protect their rights. Thus, the Tawa Matsya Sangh was formed.

.

Source Based Question / PISA/ CCT

Tawa Matsya Sangh (TMS):

It is a federation of fisher worker’s cooperatives that sangh for the rights

of forest dwellers who have been displaced from Satpura forest located

in Madhya Pradesh. With the beginning of the construction of Tawa Dam in 1958 till its
completion in 1978, large parts of the forest and agricultural areas were submerged.

Thus, the forest dwellers had to suffer a setback as they earned very little.

To government gave rights for fishing in the Tawa reservoir but to only private contractors in 1994.
iv. When the contractors started exploiting the poor villagers, they came together to form a union
and set up an organization to

protect their rights, which was called Tawa Matsya Sangh. Rallies and Chakka jam were organized
time and again.

In response, the government granted rights to the villagers in 1996.

Question 1 What is Twa Matsya Sangh?

Question 2 When was the Tawa Dam completed?
Question 3 When did the government give the villagers the right to catch fish in the Tawa reservoir?

Question 4 When did the government give fishing rights to private contractors?
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Chapter 7

Tribes, Nomads and Settled Communities

. The bunjaras were the
most important traders
—nomads

. Khokhar tribe in Punjab.

. Langahs and Arghuns in
Multan.

Gaddis in Himalyas.

. Ahoms- Migrated to Brahmaputra

- Bhil tribe in Central India Valley from present day Mayanmar.

Tribes, Nomads and

Settled
Communities

. Gonds- Lived in Gondwana

. Nomadic Pastoralists
moved our long
distance with their

animals

¢ During the Medieval Age, several social, economic and political development took place.

¢ The Indian society was divided on the basis varnas. During the medieval period, gap between
the rich and poor increased.

¢ There were, however, several communities which did not follow rules laid down by the
Brahmins. Thesej included the tribes, nomads and settled communities.

¢ Tribal Societies:

(i) Tribes are people who do not follow norms laid down by society.

(ii) Most of the tribes were dependant on agriculture. Others were herders or huntergatherers.
(iii) Tribers were even nomadic and moved from one place to another.

(iv) There were even clashes between tribes and powerful caste-based societies.

(v) Contemporary historians and travelers from medieval India hardly give any

information about the tribes.




(vi) Some of the powerful tribes were Khokhar tribe in Punjab; Langahs and Arghuns in
Multan; Gaddis in the Himalayas; Kolis and Berads of Gujarat; Gonds of Chhattisgarh,
Bhil tribe in Central India, etc.

e Pastoral Nomads:

(i) The pastoral nomads moved from one place to another with their herd of animals.
(i) They survived on milk products and exchanged ghee, wool, etc. with farmers for
grains, cloth, utensils, etc.

(iii) The most important trader nomads were Banjaras. Their caravan was called ‘tanda’.
Sultan Alauddin Khalji used Banjaras to move grain to the city markets.

(iv) Pastoral tribes thus, basically reared and sold animals like horses and cattle to the
prosperous people.

¢ Changes in Caste Structure of India:

(i) In the fields of trade and agriculture, there emerged multi-caste population in many
villages on account of the spread of Islam.

(ii) Sufi and Bhakti movement preached equality between different castes and religious

groups.

(iii) Inter-caste marriages started between Rajputs and Muslim nobles.

(iv) With the growth of economy, new jatis and varnas emerged.

(v) Many tribes became part of ruling changes.

¢ The Gonds:

(i) Gonds were sometimes referred to by their tribal dialect, Gondi. They practice shifting
cultivation.

(ii) The Gonds rose when Delhi Sultanate declined.

(iii) The Gond kingdom is Gondwana in southeastern Madhya Pradesh was found in the
15th century.

e Ahoms:

(i) The Ahom tribe is traced to some tribes living in south-east Asia who had travelled

over land through the forests of Assam.
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(ii) The religion and culture of Assam is a fusion of the local traditions and of migrant
tribes.

(iii) The Ahoms belonged to a warrior class and built roads and irrigation system even
before establishing their rule.

(iv) The Ahoms formed the new kingdom by suppressing the older political system of

Bhuiyans.

Question 1.

Who prescribed the ‘Varna’ rules?
(a) Rulers

(b) Jatis

(c) Brahmanas

(d) No one

Answer: (c) Brahmanas

Question 2.

Tribals obtained their livelihood from:
(a) Hunting

(b) Agriculture

(c) Herding

(d) All of these

Answer: (d) All of these

Question 3.

Which tribe was influential in Punjab in 13th and 14th centuries?
(a) Khokhar

(b) Ahoms

(c) Gonds

(d) Baiyaras

Answer: (a) Khokhar

Question 4.

Which tribal group established a powerful kingdom in Assam?
(a) Khokhar

(b) Ahoms

(c) Gonds

(d) Banjaras

Answer: (b) Ahoms




Question 5.

The important tribe of Bihar is
(a) Mundas

(b) Ahoms

(c) Khokhar

(d) Gonds

Answer: (a) Mundas

Question 6.

Who used the services of Banjaras as trading nomads?
(a) Alauddin Khalji

(b) Jahangir

(c) Both of these

(d) None

Answer: (c) Both of these

Question 7.

Who were known as the rathakaras?
(a) Chariot makers

(b) Soldiers

(c) Brahmanas

(d) Carpenters

Answer: (a) Chariot makers

Question 8.

How many units of villages were called chaurasi?
(a) 80

(b) 84

(c) 14

(d) 24

Answer: (b) 84

Question 9.

A division of Gond kingdoms controlled by a particular clan was termed as
(a) tanda

(b) clan

(c) garh

(d) khel

Answer: (c) garh

Question 10.
The main occupation of Gond tribes was

71




(a) trade

(b) agriculture
(c) goldsmith
(d) blacksmith

Answer: (b) agriculture

Werite a brief note on the administrative system of the Gond kingdom.

Answer: The Gond Kingdom was divided into garhs. Each garh was controlled by a particular Gond clan.
This was further divided into units of 84 villages called chaurasi. The chaurasi was subdivided into
barhots which were made up of 12 villages each.

Werite in brief about Rani DurgawatL

Answer: Rani Durgawati was married to Dalpat, the son of the Gond raja of Garha Katanga, Aman Das.
Dalpat, however, died early. After his death, Rani Durgawati, being very capable, began to rule on behalf
of her five-year-old son, Bir Narain. She extended her kingdom veiy soon. In 1565, when the Mughal
forces under Asaf Khan attacked Garha Katanga, she put up a strong resistance. Finally, she was
defeated. But she did not surrender, Instead she preferred to die.

CCT BASED ACTIVITY :

Location of somenof the major Indian tribes.
1. Bhils

2. Gonds

3. Banjaras

4. Gaddis

5. Khasis

6.Vetars

7. Mundas




Chapter -8

Devotional Path to the Divine

. Stared by Basvanna
argued strongly for the
equality of all human

. Emerging of new religious
movements lead by Naraynars beings .
Saints devoted to Shiva and

Alvar Saint devoted to Vishnu .

. Janeshwar Namdev , Eknath
Tukaram , Sakkubi family of
Chokhamela focused on the Bhakti
Vitthala

Devotional Path to
the Divine

. rejected ideal worship developed a
holy law called shariat, ghazzali rum

. Shankara V\{aS an advocate and sadi were some of the great suffi
of the Doctrine of the of Central Asia .

oneness of individual soul
and supreme God which is

the ultimate reality .

¢ Intense devotion or love of God is the legacy of various kinds of Bhakti and Sufi movements
that have evolved since the 8th century.

¢ The Idea of a Supreme God:

(i) Before large kingdoms emerged, different groups of people worshipped their own

Gods and Goddesses. As people were brought together through the growth of towns,
trade and empires, new ideas began to develop.

(ii) The idea that all human-beings are not equal at birth gained ground during this

period.

(iii) The idea of a Supreme God who could deliver humans from bondage through devotion
or bhakti emerged.

(iv) Gods and goddesses worshipped in different areas came to be identified with Shiva,




Vishnu or Durga.

¢ A New kind of Bhakti in South India- Nayanars and Alvars

(i) The seventh to ninth centuries saw the emergence of new religious movement, led by
Nayanars (saint devoted to Shiva) and Alvars (saints devoted to Vishnu).

(ii) They were sharply critical of the Buddhists and Jainas and preached ardent love of
Shiva or Vishnu as the path to salvation.

(iii) The Nayanars and Alvars went from place to place composing exquisite poems of
praise of the deities enshrined in the village they visited, and set them to music.

(iv) The Chola and Pandya kings built elaborate temples around many of the shrines.

¢ Philosophy and Bhakti:

(i) Shankara, a philosopher, of Kerala advocated Advaita or the doctrine of the oneness of
the individual soul of the Supreme God which is the ultimate reality.

(ii) Ramanuja of Tamil Nadu advocated that the best means of attaining salvation was
through intense devotion to Vishnu.

¢ Basavanna’s Virashaivism:

(i) Virashaivism movement was initiated by Basavanna and his companions Allama
Prabhu and Akkamahadevi in Karnataka in mid-12 century.

(ii) They argued strongly for equality of all human beings, opposed Brahmanical ideas on
caste and treatment of women.

¢ The Saints of Maharashtra:

(i) Jnaneshwar, Namdev, Eknath, Tukaram, Sakkubal and the family of Chokhamela
focused on the bhakti of Vitthala (a form of Vishnu).

(i) Some of these belonged to lower castes. They rejected all forms of ritualism, outward

display of piety and social differences based on birth.

¢ Nathpanthis, Siddhas and Yodis:

(i) A number of religious groups that emerged during this period criticized the ritual and
other aspects of conventional religion and the social order, using simple, logical
arguments.

(ii) Among them were the Nathpanthis, Siddhcharas and Yogis.
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¢ Islam and Sufism:
(i) Islam propagated monotheism or submission to one God.

(ii) It also rejected idol worship. Muslim scholars developed a holy law called Shariat.

(iii) The Sufis rejected the elaborate codes of behaviour demanded by Muslim religious
scholars.

(iv) The sought unioun with God, as a lover seeks his beloved with a disregard for the
world.

(v) Among the great Sufis of Central Asia were Ghazzali, Rumi and Sadi.

(vi) The Chisti silsila was among the most influential orders. A long line of teachers
included Khwaja Murinuddin Chisti of Ajmer, Qutbuddin Bakhtiyar Kaki of Delhi, Baba
Farid of Punjab, Khwaja Nizamuddin Auliya of Delhi and Bandanawaz Gisudaraz of
Gulbarga.

¢ New Religious Developments in North India:

(i) The period after the 13th century saw a new wave of bhakti movement in North India.

(i) This wave was led by scholars like Tulsida, Surdas, Kabir and Baba Guru Nanak.

(iii) This tradition also included saints like Dadu Dayal, Ravida and Mirabai. Mirabai was
devoted to Lord Krishna.

(iv) A unique feature of most of these saints is that their works were composed in regional
languages and could be sung.

¢ Kabir: Kabir ridiculed idol worship and believed in one formless Supreme God with devotion
as the path of salvation.

¢ Baba Guru Nanak:

(i) Guru Nanak emphasized on the importance of one God and nam-japna, kirti-karna and
vand-chhakna.

(ii) The number of Baba Guru Nanak’s followers increased through the 16th century

under his successors.

Devotional path to divine




Q 1 Religious biographies are called
(a) autobiography

(b) geography

(c) photography

(d) hagiography

Ans d (hagiography)
Q2

Ramanuja was born in which state of India?
(a) Kerala

(b) Tamil Nadu

(c) Andhra Pradesh

(d) None of these

Ans b (Tamil Nadu)

Q3 Vitthala is a form of
(a) Shiva

(b) Vishnu

(c) Krishna

(d) Ganesha

Ans b Vishnu
Q4

Nathpanthis, Siddas and Togis made devotional religion popular in:
(a) North

(b) South

(c) East

(d) West

Ans a North

Qs

Sufis were mystics.
(a) Hindu

(b) Boddh

(c) Muslim

(d) Christian

Ans C Muslim
Q6

House of rest for travellers kept by a religious order is
(a) fable
(b) sama
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(c) raqas
(d) hospice

Ans d hospice
Q7

Shariat is

(a) single minded devotion to one God
(b) month of fasting for Muslims

(c) the disciples in Sufi system

(d) Holy law made by Muslim scholars

Ans d Holy law made by Muslim scholars
Q8

New script introduced by Guru Nanak was termed as
(a) Dharmsal

(b) Gurmukhi

(c) Gurudwara

(d) Langar

Ans b Gurumukhi
Q9

Adi-Granth is the other name of
(a) Adi-Puran

(b) Guru Granth Sahib

(c) Koran

(d) Gita

Ans b Guru Granth sahib

Fill in the blanks

Q1 Two companions of Basavanna were and Akkamahadevi.

Answer: Allama Prabhu
Q 2. Saint Sakkubai belonged to caste.

Ans MAHAR

Q 3 Alvars were devoted to
Answer VISHNHU

Who were Sufis? What did Sufis believe in?
Answer:
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Sufis were Muslim mystics. They rejected outward religiosity and emphasized love and devotion to God
and compassion towards all fellow human beings. Islam emphasizes monotheism (one God). It rejected
idol worship and highlights into collective prayers. Sufis composed poems expressing their feelings and a
rich literature in prose, including anecdotes and fables, developed around them.

How did the ideas of Bhakti become very popular?
Answer:

Shiva, Vishnu and Durga as supreme deities came to be worshipped through elaborate rituals.

At the same time, gods and goddesses worshipped in different areas came to be identified with Shiva,
Vishnu or Durga.

In the process, local myths and legends became a part of the puranic stories.
The methods of worship recommended in the pur anas were introduced into the local cults.

In course of time the pin-anas also said that it was possible for devotees to receive the grace of God
regardless of their caste status. The idea of bhakti became so popular that even Buddhists and Jainas
adopted these beliefs

CCT BASED ACTIVITY :
Major bhakti saints and the regions associated with them.
. Eknath
. Tukaram
. Mirabai
. Surdas
. Shankaradeva
. Namdev

. Basavanna etc




Chapter 9

The making of Regional Cultures

. Bangali originated from
Sanskrit .

. Traditional of Miniature paintings
developed

The making of
Regional Cultures

. The legend of Radha Krishna were
enacted in folk place called Raas —
Leela.

. Early pilgrims got
assistance from instructor
called pirs . Under Mugal rule Kathak was
nerformed in the court.

e It is quite common for us to identify a region with its language. Thus, we call a person Bengali
or Kannada on the basis of the language which he speaks.

e Every region is identified with a certain distinct type of food, clothing, poetry, dance, painting
and music.

¢ Language is quite closely connected to a region.

* The Chera empire of Mahodayapuram, which was established in 9th century in the southwestern part
of Kerala introduced the Malayalam language.

¢ Rlers and Religious Traditions: The Jagannatha Cuit

(i) In several regions, regional cultures developed around religious traditions.

(ii) The local people made a wooden image of the deity which, originally a local God, came
to be identified with Vishnu.

(iii) Temple became a centre of pilgrimage.

¢ The Rajputs and Traditions of Heroism:

(i) In the 19th century, the Rajasthan of today was called Rajputana by the British.

(ii) There are many groups who call themselves Rajputs in Northern and Central India.
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(iii) Prithviraj Chauhan was one such ruler.

(iv) Women had been given a heroic image since they committed sati or self-immolation.
¢ Beyond Regional Frontiers: The Story of Kathak

(i) The heroic traditions of various regions also helped in the evolution of dance in
several regions.

(ii) One such dance was Kathak, which was evolved in Northern India. The Kathaks
initially were a caste of story-tellers in North Indian temples.

(iii) The legends of Radha-Krishna were enacted in folk plays known as rasalila.

(iv) It integrated folk dance with the basic gestures of the kathak story-tellers.

¢ Paintings for Patrons: The Traditions of Miniatures

(i) During this period, one more tradition which deserves our attention is the miniature
painting. Miniatures are small sized paintings done in water colour on cloth or paper.
(ii) Akbar, Jahangir and Shah Jahan hired highly skilled painters to illustrate their

manuscripts in the Kitab Khana containing their accounts and poetry.

(iii) When Mughal empire started declining, new artistic tastes developed in the regional

court of Deccan and Rajput rulers.

(iv) One bold style of miniature painting was called Basohli.

(v) One of the most popular paintings of Himalayas region was Bhanudatta’s Rasamanijari.
(vi) The Kangra artists by mid-18th century infused a new life into miniature painting.

¢ The Growht of a Regional Language: Bengal

(i) Regional language is the language which a person speaks in a region.

(ii) It is generally assumed that Bengali language is spoken by people of Bengal.

(iii) Bengali originated from Sanskrit but later on developed its own identity and
literature.

¢ Pirs and Temples:

(i) From 16th century, people migrated in large numbers from less fertile western Bengal
to the forested and marshy of south-eastern Bengal.

(ii) With Mughal control over Bengal, the capital shifted to Dhaka. Officials received land
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grants Mosques were set up.
(iii) The early settlers got help from teachers called Pirs. They included saints or Sufis and

prominent religious personalities.

¢ Fish as Food: Bengalis had fish as food. Popularity of fish made even Bengal Brahmins eat

fish.

Question 1.

With what do we associate each region?
(a) Food

(b) Language

(c) Clothing

(d) All of these

Answer: (d) All of these

Question 2.

The language spoken in the Chera kingdom of Mahodayapuram was
(a) Sanskrit

(b) Urdu

(c) Malayalam

(d) Persian

Answer: (c) Malayalam

Question 3.

Fourteenth-century text of Sanskrit which deals with grammar and poetry was called
(a) Lilatilakam

(b) Miniature

(c) Basohil

(d) Dialect

Answer: (a) Lilatilakam

Question 4.

Chera kingdom was established in
(a) 9th century

(b) 10th century

(c) 11th century

(d) 12th century

Answer: (a) 9th century

Question 5.

The conquerors tried to control the temple of Jagannatha at Puri because
(a) they were very devoted to God Jagannatha

(b) the temple was very beautiful
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(c) the temple had huge wealth
(d) none of the above

Answer: (c) the temple had huge wealth

Question 6.

Who proclaimed himself as deputy of God?
(a) Shankara

(b) Ramanuja

(c) King Anangbhima

(d) Ruler of Mahodayapuram

Answer: (c) King Anangbhima

Question 7.

The word Rajputana meant

(a) the Rajput tradition

(b) in 19th century the region of present day Rajasthan
(c) group of Rajputs

(d) none of the above

Answer: (b) in 19th century the region of present day Rajasthan

Question 8.

Which type of emotions were there in Rajputs ?
(a) Bravery

(b) Valour

(c) Loyalty

(d) All of these

Answer: (d) All of these

Question 9.

The major patrons of Kathak were
(a) Mongols

(b) Pandayan

(c) Mughals

(d) Rajput

Answer: (c) Mughals

Question 10.

Basohli was

(a) small sized paintings

(b) bold and intense style of miniature paintings
(c) old and very distinctive

(d) traditions

Answer: (b) bold and intense style of miniature paintings
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Question 11.

Bengali language was derived from
(a) Hindi

(b) Sanskrit

(c) Persian

(d) Urdu

Answer: (b) Sanskrit

State whether the given statements are true or false:
1. Malayalam was the first regional language to be used in official record.

Ans True
2. The Kathaks were originally a caste of priests in temples of North India.

Ans False
3. Kathaks developed into two traditions or Gharanas—Rajasthan and Lucknow

Ans True.
4. Nath literature includes songs of Mayanmati and Gopichandra.

Ans True

Describe the most important features of the culture of your region, focussing on buildings, performing
arts, and painting.

Answer: | live in Delhi. Right from the beginning, it has been a land of mixed cultures. In old days, it was
invaded by a number of foreign rulers. Some of them stayed here for some time and some settle down
permanently. They all affected its culture, language, religion, society, architecture, art and painting. Still
we have buildings and monuments built by Mughal emperors, slave emperors, Rajput rulers and many
more. We have temples, mosques and many other such places constructed by different rulers.
Differences of cultures can still be seen in the areas of old Delhi and new Delhi.

Give a detailed description of kathak, a popular classical dance form of north India. [V. Imp.]

Answer: The term Kathak is derived from Katha, a word used in Sanskrit and other languages for the
story. The Kathaks was originally a caste of storytellers in temples of north India, who beautified their
performances with gestures and songs. Kathak began evolving into a distinct mode of dance in the 15th
and 16th centuries with the spread of the Bhakti movement.




Chapter 10

Eighteenth — Century Political Formations

. Emerged to power under
Guru Govind Singh

. The Jats — They are prosperous
agriculturailist.

Eighteenth —
Century Political
Formations

. Hyderabad- Establish by Burhan-Ul-
Mulk -saddat Khan

. The Maratha Kingdom
ascended under Shivaji.

e By 1765, British had captured major chunks of Indian terriory in eastern India.

¢ With Aurangzeb’s death in 1707, many new states emerged in India.

¢ The Crisis of the Empire and the Later Mughals

(i) After reaching its zenith, Mughal empire started declining under Emperor Aurangzeb.
This was because of Aurangzeb’s military and religious policy which depleted the

financial resources of the Mughals.

(ii) Under his successors, the efficiency of the imperial administration broke down. It

became difficult to check governors and mansabdars.




(iii) In the midst of this crisis, Nadir Shah’s invasion in 1739 and invasions of Afghan ruler
Ahmed Shah Abdali between 1748-1761, weakened the Mughal empire.

(iv) The nobility was divided into two major groups Iranis and Turanis. For a long time,
the later Mughal emperors were puppets in the hands of either one or the other of
these two powerful groups.

¢ Emergence of New States:

(i) With the decline of Mughal authority, the governors consolidated their authority.

(ii) Broadly speaking, the stateswere divided into three overlapping groups; old Mughal
provinces like Awadh, Bengal and Hyderabad States which enjoyed consideration
independence like Watan Jagirs and several Rajput principalities, and the last group
included states like Marathas, Sikhs and the Jats.

¢ The Old Mughal Provinces:

(i) These included the states of Awadh, Bengal and Hyderabad.

(ii) Hyderabad state was founded by Nizam-ul-Mulk Asaf Jah. The state was constantly
engaged in a struggle against the Marathas.

(iii) Awadh was founded by Saddat Khan. The rich alluvial plains allowed development of
the region.

(iv) Bengal was founded by Murshid Quli Khan. He commanded revenue administration of
the state. Under Alivardi Khan the state became prosperous.

e The Watan Jagirs of the Rajputs:

(i) Many Rajput Kings, particularly those belonging to Amber and Jodhpur had served
under the Mughals with distinction. They got considerable autonomy and thus were

called watan jagir.

(i) Maratha expansion after 1740s put restriction on growth of Rajput expansion.

Seizing Independence;

e The Sikhs:

(i) The Sikh arose as a power under Guru Gobind Singh who inspired the Khalsa with the

belief that their destiny was to rule.
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(ii) Maharaja Ranijit Singh reunited the Sikhs as a powerful group and established his
capital at Lahore in 1799.

e The Marathas:

(i) The Maratha kingdom rose under Shivaji. After Shivaji’s death Peshwa, led the
Maratha empire to its zenith.

(i) Marathas collected huge revenue from taxes of chuth and Sardshmukhi in the entire
kingdom.

(iii) Maratha chiefs included Peshwa, Sindhia, Gaekwad and Bhonsle. Their territory
touched near Delhi in its peak stages.

¢ The Jats:

(i) The Jats under Churaman controlled territories towards the west of Delhi.

(ii) They were prosperous agriculturalists.

(iii) Under Suraj Mal, the kingdom of Bharatpur emerged as a strong state.

(iv) Jats even built a garden palace at Dig.

Question 1.
The British East India Company established its power after
(a) 1757
(b) 1761
(c) 1768
(d) 1771

Answer: (a) 1757

Question 2.

Aurangzeb had depleted the military and financial resources by fighting a long war in the
(a) East India

(b) North India

(c) Deccan

(d) none of these

Answer: (c) Deccan

Question 3.

Aurangzeb died in the year
(a) 1700

(b) 1710




(c) 1725
(d) 1707

Answer: (d) 1707

Question 4.

Ahmad Shah Abdali was the ruler of
(a) Afghan

(b) Iran

(c) Irag

(d) none of these

Answer: (a) Afghan

Question 5.

Ahmad Shah Abdali invaded North India times between 1748 and 1761.
(a) 3

(b) 4

(c)5

(d)6

Answer: (c) 5

Question 6.

During which century the Mughal Empire declined?
(a) 18th

(b) 16th

(c) 19th

(d) 21th

Answer: (a) 18th

Question 7.

Which of the following enjoyed the zat rank of 70007?
(a) Asaf Jah

(b) Murshil Quli Khan

(c) Both of these

(d) None of these

Answer: (c) Both of these

Question 8.

Who were the Telugu warrior chiefs’?
(a) Nayakas

(b) Jathas

(c) Misl

(d) All of these

Answer: (a) Nayakas
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Question 9.

Who was the powerful governor of Bengal?
(a) Sa’adat Khan

(b) Murshid Quli Khan

(c) Asaf Jah

(d) Alivardi Khan

Answer: (b) Murshid Quli Khan

Question 10.

During whose rule Jagat Seth became prosperous in Bengal?
(a) Murshil Quli

(b) Sa’adat Khan

(c) Alivardi Khan

(d) Asaf Jah

Answer: (c) Alivardi Khan

Fill in the blanks with appropriate words:

1. Third battle of Panipat (1761) was fought between Marathas and
Answer: Ahmad Shah Abdali

2. Ruler of Iran plundered the city of Delhiin 1739.

Answer: Nadir Shah

3. Mughal nobles were divided in two factions, the

Answer: Iranis, T

State whether the given statements are true or false:

1. Nobles appointed as Governors by the Mughals had no control over Diwani and Faujdari.
Answer: False

2. Ahmad Shah Abdali invaded north India 5 times between 1748-1761.

Answer: True

3. Banking house of Jagat Seth became extremely prosperous during the rule of Murshid Quli Khan.

Answer: False

4, Khalsa was instituted in 1699.
Answer: True

How did the later Mughal emperors lose their control over their nobles? [V. Imp.]
Answer: The efficiency of the imperial administration broke down under the later Mughal emperors. It
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became increasingly difficult for them to keep a check on their powerful Nobles appointed as governors
often controlled the offices of revenue and military administration as well. This gave them extraordinary
political, economic and military powers over vast regions of the Mughal empire. As the governors
consolidated their control over the provinces, the periodic remission of revenue to the capital declined.

How did Burhan-ul-Mulk reduce Mughal influence in the Awadh region? [V. Imp.]
Answer: Burhan-ul-Mulk tried to reduce Mughal influence in the Awadh region by taking following
steps:

He first of all reduced the number of office holders [jagirdars) appointed by the Mughals.
He also reduced the size of jagirs, and appointed his own loyal servants to vacant positions.

The accounts of jagirdarswere checked to prevent cheating and the revenues of all districts were re-
assessed by officials appointed by the Nawab’s court.

Describe the three common features of the states like Awadh, Bengal and Hyderabad.
Or

What common features were shared by these three states—Awadh, Bengal and
Hyderabad?

Answer: The common features shared by these states were:

Though many of the larger states were established by erestwhile Mughal nobles they were highly

suspicious of some of the administrative systems that they had inherited, in particular, the jagirdari

system.

Rather than relying upon the officers of the state, all the three regimes contracted with revenue-farmers
for the collection of revenue.

The third common feature in these three states was their emerging relationship with rich bankers and
merchants. These people lent money to revenue farmers, received land as security and collected taxes
from these lands through their own agents

Locate these places on the outline map of India
Awadh
Bangal

Hyderabad




SAMPLE QUESTION PAPERI|

Sample Paper-I

oTHeAT JR-|
AT fader:
1.9%7 99 H 9rg @s-T, &1, 1, 3 3R § nfAer &1 s 9e 99 #24 ua gl
2.8 et Jrfeard gl

3.TS U- W&l HEAT 1 & 10 Yol 1 3eh & d&ielsd TN & 9T gl

4.@3 & - 9% WEAT| 11 ¥ 14 Y g 3T0T 9T § S 1 3 & 81 Tl e
T 30 40 el § HH g1 gl A1fgw

5.8 I - U HEAT 15 § 21 dh & oY 30T e fSaTst gcdeh & 2 3 &1 9
U &l 3aX 60 Ascl H 3f8F sTgr gl AIfgy|

6. T3 37 - YT TEAT 22 3R 23 &Y 33T weA § 5 4 37 &1 5T U=y &7 3
80 grear & 3if¥® 1T glar AIRU|

7.95 § - YT TEAT 24 AT &1 9T & 598 4375 gl

General Instructions:

1. Question paper comprises of five Sections—A, B, C, D and E. There are 24 questions in the
question paper.

2. All questions are compulsory.
3. Section A- Question no.1 to 10 are Objective Type Questions of 1mark each.

4. Section B — Question no. 11 to 14 are very short answer questions carrying 1mark each.
Answer to each question should not exceed 40 words

5. Section C — Question no.15 to 21 short answer questions carrying 2 marks each. Answer to
each question should not exceed 60 words.

6. Section D — Question no. 22 & 23 are long answer type questions carrying 4 marks each.
Answer to these questions should not exceed 80 words.

7. Section E - Question no. 24 is Map question carrying 4 marks.




SECTION-A

Q1. TUT g T Herel
a) GferuT 3Thienr

Steppe grassland is found in
a) South Africa
Australia
Russia

USA
W2 2. ShleT W1 HAR I AL §?
a) efermler

SREGIC]

c) AT

d) Frsfarer

Which is not a means of communication?
a) telephone

b) Books

c) Table

d) Cycle

Q3. Fierdr Adr ) Fua &

b) g?ra'i’r
c) HrafTAdT




d) FHA

Kolkata is located on the river:
a) Orange

b) Hooghly

c) Bhagirathi

d) Yamuna
g4, AT @d & O &l We Hifzar g2
a) 3@ER

b) &r.dr.

Which one of the following is print media?
a) Newspaper

b) T.V.

c) Radio

d) Television

RS, AC T FHElAT Y& glell &
a) s

b) SUTH T IcUTcd

c) IS

d) ST

The story of shirt does begin with:
a) Spinning

b) Production of Cotton

c) Weaving

d) Selling
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TeT6. FIAT AR & A9l I AT TATT &7

a) &
b) SisT

an) dle

H) T ¥ PIg AT

What makes people of India equal?
a) Religion

b) Sex

c) Vote

d) None of these

e 7. @@t & afay I &1 A1 F=21r &2

What is the name of holy scripture of the Sikhs?
a) Quran

b) Bhagwatgita

¢) Guru granthsahib

d) None of these
Q8. TTET FT §?
a) 3:||\J'Z|qa|3f|

b) GR[

c) 3YhIoT

d) SSIRT SRar




What is Tanda?
a) Food

b) Animals

c) Tools

d) Banjara caravan

W2 9. 37 I HTAH A el UT?
a)aﬁ?\' 37l IR

b) AT WleT

c) STeTR Mg

d) foremar eme

Who was the last Nawab of Awadh?

a) Waijid Ali Shah

b) Kamal Khan

c) Jahangir Shah

d) Nizam Shah

99710, 3ITHFAT (A) : RATT TdcaATen Isvrpieatfia & 31 d& aeedfd 7 IRadel gaffdr &
FROT (R) : TGIRT &t 3 S F geftr & @ A F FA e € e aeeataat &
IR & IRadsT gdr gl

feu 91T fawedl # & Q' [Ashed &1 IIT ST

a) gt (A) 3R (R) §eF § 3R ( R) 5 § (A)

b) &I (A) 3R (R) Ted & AfheT (R) SATEAT 7T YT & (A) BT

o). (A) T & 3R (R) 3T &

8N (A) ST & 3N R) O &
Q10. Assertion (A): The Himalayan ranges show change in vegetation from tropical to Tundra.

Reason (R) : In mountainous areas with increase in altitude there is corresponding decrease in
temperature, which leads to change in vegetation types.




Select the correct option from the given alternatives.
A. Both (A) and (R) are true and (R) explains (A)

B. Both (A) and (R) are true but (R) does not explain (A)
C. (A) is true and (R) is false

D. (A) is false and (R) is true

E3-§/SECTION-B
gesT11. GATERUT ¥ 319 FIT AT g
Q11. What do you mean by environment?

TeeT12. 9Tl TSIR

Q12. Bengal tiger is found in
fev a0 T &t eI @ AT AR e Fw IR S

Observe the given image and give the answer of the question.

UReT13. 3T A 1 A asha F{ea Fam g2

Q13. What is the final selling price of the above shirt?

U214, 3H THHAUTRRT &l ATH TAST Toldel 1739 # ool AT I ofer AUT?

Q14. Name the invader who plundered the city of Delhi in 1739?

SECTION-C




92715, 184t erarsdr H @@ H8 garfed gu?

ar

FIST SeFehed U 31 TAEAR AT HLT g A?
Q15. How were the Sikhs organised in 18 century?
Or

Why did the Marathas want to expand beyond the Deccan?
URE16. Sllehdd # HISAT fhd YR AgcaquT {fAemT fHerar &2
Q16. In what ways does media play an important role in a democracy?

ge717. IREET & IR TTUT ST T &2

Q17. What are the four means of transport?

Ue18. Wid & &7 ¥ ¢ 3R Feafaf@a ue&at & 39 &:-

Wﬁwmﬁﬁfﬁﬁraﬂﬁﬁﬁmﬁg@,a@ﬁa@ﬁﬂwm 1| FgfE (shar
foF 3% AT T & IaT ToIdT §) BT IR & [T gId &, ST JHAAR W SIS IT FHETT 9T
uler & 1 H BT S g1 Ureheidd ogiaT a5 & uhl a1 ol W | S § O d9
e, afFesdl #Ra # uiv 9T, S i A AT w@ & A 3w e e 9 gara
SICATg 3eha, STEIAR 3R ATEoTel o JHcaftier Ferel Ry &1 @veror R, g gea &9
O e ot 3R St arer aigfaftat @ Reor G e

i) T8 g oy T fRw @ds W R[fRa fHe o g
ii) T =T Y EETOT & ATt HITT SIGenel & A fof@e

Q18. Read the sources carefully and answer the following question:-

The Tradition of Miniatures Another tradition that developed in different ways was that of miniature
painting. Miniatures (as their very name suggests) are small-sized paintings, generally done in water
colour on cloth or paper. The earliest miniatures were on palm leaves or wood. Some of the most
beautiful of these, found in western India, were used to illustrate Jaina texts. The Mughal emperors
Akbar, Jahangir and Shah Jahan patronised highly skilled painters who primarily illustrated manuscripts
containing historical accounts and poetry.

i) The earliest miniature paintings painted at which surface?
ii) Name the Mughal emperors who patronised miniature paintings




URET19. 19N ST W AT Y7 AT el A §?
Q19. What are the major cities located on the river Ganga?
TRT20. SATIRY o TACAT I HH HIHAT FAT &I?

Q20. Why did the trader pay Swapna a low price?

U2 21. TGar@ H 39761 dTel UST & oAH Jdre?

Q21. Name the trees that grow in Ladakh?

SECTION-D

9% 22, AFATATET WX ATCATigeh SToTR 3 AT HiFcelrd T Jolell 3N Jelell Y

CISIES IEEGEKCIGRIE] AT T HrAaa aghar ECEALARY
FT JHT

TICATged deiR

TR @
e STITE

a1

THAG & Heg Th diehcd & AT T &' HUT HiT redm Hiav|

Q22. Compare and contrast a weekly market and a shopping complex on the following:

Market Kind of goods Prices of goods Sellers Buyers
sold

Weekly Market

Shopping
Complex

or

‘Issues of Equality Are Central to a Democracy’. Explain the statement.

URe 23.heR GaRT ¥ fhU 1T yHW faaR &1 A2 38l Sog Sy T foham?

qr

SaTTel & HIEIT T HgeaquT TUYIY FAATATT F41 87
Q23. What were the major ideas expressed by Kabir? How did he express these?
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Or

What are the Important architectural features of the temples of Bengal?

SECTION-E
U 24| 1) IRT & Teleliae AT W fhegl & TAET i ggaeT Hifaw
a) Tty fore o & @efda &

b) THAeARH I & HaT & &

C) TS TS o1F /g I TSTEmaT T ATH IdrT

Q24. 1) Identify any two places on the political map of India

A) State belongs to Eknath
B) State belongs to Basavanna
C) Capital of Sawai Raja Jai Singh

sa &t ,... . 54 53» _.1
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1) 32T & TRET AGRT W gl & Sgiferd &3 & ATH Igan«av|

A) T 2
B) Ueh A&l
C) Uk odT affeT

Identify the name of any two shaded region on the outline map of World.
A) A country
B) A Desert

C) A river Basin







Sample Paper-ll

AHAT Y-l

AT e
1.9%T 93 & g @s-U, o, 1, &Y 3R § aifder &1 sa Ul 93 #24 9o g
2. g8 e Ay gl

3.TS U- UReT HEAT 1 ¥ 10 Yodeh 1 3eh & d&ie1sd Yo & U gl

4.@3 o - 9o F&AT| 11 F 14 AT o 3T 9eeT 8 Sl 1 37k & &1 Tcdeh uRed
T 30X 40 ereal & ATF 7T gl AT

5.8 I - U HE&AT 15 § 21 d & oY 30T e fSaist gcdeh & 2 3 &1 9
U2l &l 3aX 60 Ascl H 3f8F sTgr gl AIfgy|

6. T3 37 - YT TEAT 22 3R 23 &Y 33T weA § 5 4 37 &1 5T U&AT &7 3
80 grear & 3if8® w1ET glar aIRU|

7.95 § - YT TEAT 24 AT &1 9T & 598 4375 gl

General Instructions:

1. Question paper comprises of five Sections—A, B, C, D and E. There are 24 questions in the
question paper.

2. All questions are compulsory.
3. Section A- Question no.1 to 10 are Objective Type Questions of 1mark each.

4. Section B — Question no. 11 to 14 are very short answer questions carrying 1mark each.
Answer to each question should not exceed 40 words

5. Section C — Question no.15 to 21 short answer questions carrying 2 marks each. Answer to
each question should not exceed 60 words.

6. Section D — Question no. 22 & 23 are long answer type questions carrying 4 marks each.
Answer to these questions should not exceed 80 words.

7. Section E - Question no. 24 is Map question carrying 4 marks.




SECTION-A
Q1. foreet gieram &1 gAR w9 o f&ar g2
A. Collfdalel

Q1. Which has brought the world closer to us?
(a) Television

(b) Taperecorder

(c) Typewriter

(d) None of these

g2 2. AT & A [T YR I T 1 AT FAar Jrar g2

(T) FATS3iIaR
(&) TFgIad

D EEE]
() AH A IS e

Q2. Which type of road is constructed under the ground?

(a) Flyover

(b) Expressway
(c) Subways

(d) None of these

Q3 3fAFY: Fegra #H Fg #AS gl
FRUT; 37 HAST H F$ g 7 T
. AR R TT & R A T TEr TTET B
A 3R R T ¢ ofhad R, A &Y T8 arEar 6T §

A
B
C. A TE § afdeT R G 7ET &
D. REE & oftheT A FEN 78T &




Q 3 Assertion: There are many monasteries in Ladakh.
Reason: many tourists visit these monasteries.

(a) Aand Ris true, R is correct explanation of A.

(b) Aand R is true but R is not correct explanation of A
(c) Ais correct but R is not correct.

(d) R is correct but A is not correct.

Q4 T & MO & F47 arer fohar ar?
A. 39 TS @1 el

B. ST &I HIYY A & & forw

C. 39 ¥ Furg I9« & T

D. $IH ¥ HIg el

Q4 What promise did Swapna make to the traders?
(a) Not to give interest to him

(b) To give heavy amount of interest

(c) To sell her all cotton to him

(d) None of these

RS, fohE HITST HHIC o HAT WIel IFET FI Teh Folled (HAGEIER) FAAT?

A. 3iReEe

B. amgoigl
C. 3ha¥

D. dsX

Q5. Which Mughal Emperor made Kamal Khan Gakkhar a noble (mansabdar)?
A Aurangzeb
B Shah jahan
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C Akbar

D Babur
Q6. e v gffey IR dd &
A. 8T Agdr

B. I&ATAH
C. a1 W
D. 313 ¥ HI5 gl

Q6.The following was a famous Gujarati Saint
A Narsi Mehta

B Gurunanak

C Baba Farid

D None of these
Q7 G T §
A. BX W ¢FH

B. SITaRT WX ¢aFd

Q7 Sardeshmukhi was a
A Tax on house

B Taxon animals

C Tax on water

D Land revenue

IR 8. JHATAT HT YHE HROT FT g2

A. ST
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D. $TH & FIS AET

Q8. What is the major reason of inequality?
(a) Poverty

(b) Religion

(c) Casteism

(d) None of these

Q9 SIS TISIR IIAT AT §

Q9 Bengal tiger is found in

(a) Mountains
(b) Delta area

(c) Amazon

(d) None of these

qaalo.m@rwmw%wwmﬁ%aﬁrmaﬁgé%mﬁ%
3cdTG Teh S6R @ & §eiR & S §?

A, STSIR &1 el

B. U+ §NIR

C. HIedligsh dRIR

D. Qfder HAfel




Q10. What is a series of markets that is connected like links in a chain because products pass
from one market to another?

(a) Chain of market

(b) Wholesale market

(c) Weekly market

(d) Shopping malls

SECTION-B

fer av R &1 eae ¥ QT AR g #r1 3R fSw 3R S

Observe the given image and give the answer of the question.

g 11.8) I8 B ¥ IPEAA AT fFAvar S ggant|

A SH &

B. ¥GIEER &1
C. 3ufad (FF3cT )
D. 31 ¥ HIs 15|

Q 11. Identify the feature of desert from given image.
(a) dry region
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(b) evergreen region
(c) Oasis
(d)None of these.

U712, FIediiges ST &l Teh ord faf@u|

Q12. Write one advantage of weekly market.

G213, TeEIE Tod & TEATSH Sl A?

Q13. Who was founder of Hyderabad state?

Ql4.FUF & & WE & A7 @)

Q14.Name the two gharanas of kathak.

SECTION-C
UReA15. R SaRT T fhT T yo@ faarR a1 A7

1

Qater &7 U

Q15. What were the major ideas expressed by Kabir?
OR
Q What was chauth?

URET16. TSI I Ghlell & T oY g2
Q16. What are the benefits of neighborhood shops?
YeeT17. ddl AcET €Y T g2

Q17. What is Tawa Matsya sangh?

UR=118. ¥e9d & g al 0T FA1sU|

Q18. Mention any two merits of railways.

U219, FEGIE & @l GaRT 395 Sfled dTell BlHedl & o1 faf@u]

Q19. Name the crops grown by the people of Ladakh.

U120, SRl dmeey # [OF@ Tarfead Fa gu?
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Q20. How were the Sikhs organized in the eighteenth century?

TR 21. 3TYeRT FIT 91T ¢ T s et of yaferd a1fdie Aeganit iR gamit 1 @iRsr
X fear

Q21. Why you think many teachers rejected prevalent religious beliefs and practices?

SECTION-D

gesT 22. AFafaf@a gz & afgr 3R Arafaf@a gt & 3w Afew

aRagel dg Ael § S8 gaRT oller U SieTE & @y STE S g, 3R AT I golls giehr 2|
YEITH feaAl & ol gl 07 ¥l A FIB THI of@Tcl AT| el T Yeel Tefell Il AT IR
39T HIATT &l & TIT SATAGRT T STEIATT FIAT 9T AT| 93T & MASHR o IRageT r
3TET S fear FHY i F @Y IR F AP @ Iefid gu At et o o
aRaee & T SereRt &1 39aET

FAR U H 1Y, TewR, Sl AR 3¢ 30 &1 Sfeior 3ARST & UEler gdd #, ArA S 3ueT
fepam ST &, SR s a1 71| @ Rl & YB3 cARAT I HRA Ggal H S AEA
ST ST Al 3egier AT A AR forar Ar A AT gar$ el A AT A oaer a fear

€ 3T HRA @ U & T 7T el A 8% 6-8 6 o9 1 30 TR IRaegel & 3meforen
e AT 3R Foll i 9T Hd &

|) BT AT & arar A 3T Fa g F37 oferar |
A FThfceh 3Tl & HROT
B aRkagel & favw 3udler v St arel SR
C QT T ¥ | 5 &
D. STH ¥ FIS G
Il) PlT & INfASHR & IRAgT AT fRaT ?
A. HITsTST
B. &9
C. &R

D. eglel ufgar
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(|||)Wq§aﬁ$ﬁvuﬁﬁ%mﬁwmm

A. TR

B. eid

C. AT HET 1 i HWEY

D. $oTH & FIg T

(V) IRagT & FH T F IET T dF & e

A. STgTall ( 9reir o7 )
B. #CI ¢
C. &R

D. gdTs SIglel

Q22. Read the following passage and answer the following questions:

Transport is the means by which people and goods move. In the early days it took a
great deal of time, to travel long distances. People had to walk and used animals to
carry their goods. Invention of the wheel made transport easier. With the passage of
time different means of transport developed but even today people use animals for
transport.
In our country donkeys, mules, bullocks and camels are common. In the Andes
Mountains of South America, llamas are used, as are yaks in Tibet. The early traders
from other countries used to take several months to reach India. They took either
the sea route or the land route. Aeroplanes have made travel faster. Now it takes
only 6-8 hours to travel from India to Europe. Modern means of transport thus saves
time and energy.
) Why did travelling take much time in early days.

(a)due to natural calamities

(b) animals used for transport

© People were afraid of travelling

None of these

) Which invention led transportation easier?

(a) CNG

(b) Bus

(c) Car

(d) Wheel

(111) which routes did traveller take to reach India

109




(a) Airways

(b) Railways

(c) Sea route or land route

(d) None of these

(IV) which mode of transport made travelling faster?
(a) Ships

(b) Metro train

(c) Car

(d) Airplanes

ge 23. Fafaf@a fr carear #1:
) HERfAT
) Jg Afsar

qr

REIGLREEE
IRGRIGED

Q23. Explain the following:
) Censorship
) Mass media
Or
) Ginning Mill
) Exporter

SECTION-E
Tee 24| |) AT & efaf@d T &1 9aT 9e (@1 2

(T)

N

CORESIELS
() feeelr

Q24. 1) Locate the following places in map( any two)
(a) Poona
(b) Hyderabad
(c) Delhi
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Il) TR AR & Reafa@a [dvar & @l 3k orifea #
(T) HgRT e

(&) AT Sfa

(&) FTaM-sEAYT SfaT

[1)Show and shade the following feature in world map
(a) Sahara Desert

(b) Amazon Basin

(c) Ganga-Brahmaputra Basin
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AHAT FUR-1I1
AT e
1.997 99 H 979 W3S-A,B,C,D 3R E AMfAST g1 ST T I H 24 92 &l

2. 93 g faary gl

3.T3 U- 9% HEAT 1 § 10 YA 1 3ieh & JE56 bR & 9 &l

4.93 & - 9 FEAT| 11 ¥ 14 3T oY 3T 9T § S 1 3% & g
Tcdch 99T T 31 40 sl § J™F A gl arfgw

5.T8 37 - YT HEAT 15 F 21 deh & oY 3T 9T TSt Jdh & 2
37 81 9cdeh UReT T 3T 60 sal H 3iTeeh g1 glaal AMgy|

6.T3 31 - T TEAT 22 3R 23 & 3T U ¢ Tola1eT 4 37 &1 3
AT T 3¢ 80 AUsal & 3T8F Al gler AMMRT|

7.W3 - U HEAT 24 ATATIT &l YT g T9TH 4 3% &l
General Instructions:

1. Question paper comprises of five Sections—A, B, C, D and E.
There are 24 questions in the question paper.

2. All guestions are compulsory.

3. Section A- Question no.1 to 10 are Objective Type Questions
of 1mark each.




4. Section B — Question no. 11 to 14 are very short answer
questions carrying 1mark each. Answer to each question should
not exceed 40 words

5. Section C—Question no.15 to 21 short answer questions
carrying 2 marks each. Answer to each question should not
exceed 60 words.

6. Section D — Question no. 22 & 23 are long answer type
questions carrying 4 marks each. Answer to these questions
should not exceed 80 words.

7. Section E - Question no. 24 is Map question carrying 4 marks.

SECTION-A

Ql. [AFITET # @ FieT HheaX I 98y Foafd a1 S8 1591 #
T T gI=AT AT?

(a) TS 35T g
(b) e 3R fAE
(c) TS A g
(d) TS STTdG

Q1. Which of the following was Akbar’s famous general who
defeated the cheras in 15917

(a) Raja Uday Singh
(b) Raja Amar Singh
(c) Raja man Singh
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(d) RajalJai chand

g9 2. AR Thash Had A?
(a) fora
(b) faor

(c) ITdTeT 0T

(d) ohsuT

(&

Q 2.The Nayanars were the devotees of

(a) Shiva

(b) Vishnu

(c) Lord Ganesha
(d) Krishna

Q3. gRT fhd TR T HAXELS §

(a) &UST

(b) IR

(c) WA

(d) S & P15 Tt

Q 3. Sahara is what type of desert

(a) Cold
(b) Hot
(c) Mild
(d) None of these




Q4. dar ¥ g a¥ T =R g3 T

(a) 1958
(b) 1968
(c) 1978
(d) 1988

Q 4. In which year Tawa dam was completed?

(a) 1958
(b) 1968
(c) 1978
(d) 1988

Q5. T & fFg 9eR & ¥5% foas a1

Which type of road shown in picture?




(a) UFHT HSH

(b) Sl TSH

(c) ToT-3ter A
(d) "% HIHS U3

(a) Metaled Road

(b) Unmetalled Road
(c) Zig—Zagroad

(d) White cement Road

Q6. FRYST TFT T FT TRY JcT &7 g...
OIGIGEDIE]

(b) el

(c) 3nf3em

(d) 3TTer wcer

Q 6. Kuchipudi is a famous dance form of

(a) Tamilnadu

(b) Kerala

(c) Odisha

(d) Andhara Pradesh

Q7. I T AT JeEr fhe vy A g3m o

(a) 1761




(b) 1861
(c) 1521
(d) 1661

Q 7. In which year third battle of Panipat took place

(a) 1761
(b) 1861
(c) 1521
(d) 1661

uRe 8. fhd UehR T AfSAr Affies drost 1 FRF & 3178q e
YhR P SATTPRT YGTed hldl g7

(T) oiFelfaeh HfSAT
(&) Toic Afsar

(&) AT A

(@) T Tl

Q 8. Which type of media offer a large variety of
information to suit the taste of different readers?
(a) Electronic media

(b) Print media

(c) Mass media

(d) All of these

Q9. 3TRFHYT: HRISTS FSUT I 37eFcd Al




FROT: Jegiad HST & Gfd 9=l g AfFT T ¥Fd R U 3T
HSTell hl TeT |

(a) A 3R R TT § R, A &I H&r ITEAT ¢

(b) A 3R R T ¢ JfhT R, A T TE AT &

(c) A HEY & @feheT R FET 6T

(d) R HET & ofchel A TeT oTel &

Q 9. Assertion: Mirabai was devoted to Krishna.

Reason: She composed innumerable bhajans
expressing her intense devotion to Krishna.

(a) A and Ris true, R is correct explanation of A.

b) A and R is true but R is not correct explanation of A

(
(c) Ais correct but R is not correct.
(

d) Ris correct but A is not correct.

g 10. 38T 92T H HUTH gl 9T STl g7?




Q 10. Where is cotton sold in Andhra Pradesh?
a) Kurnool

b) Hyderabad

c) Vijayawada

d) None of these

(
(
(
(

SECTION-B

e 11.Fcdlfge dTelR 4T &7
Q 11. What is weekly market?

Q 12. TAARET FT Teh oTH Af@U|

Q 12. Write one advantage of waterways.

g2 13. e AT &1 T 30T v

Q 13. Give one example of print media.

TReT14. ATTEST oUT el A?
Q14. Who was Martin Luther?

SECTION-C

2715, JeRT IFEd & T 5T R & $Ug Ugdd 87

Q15. Which type of clothes the people of Sahara Desert
wear?

9R&T 16. UTehfdieh ToEqfcl I el caaeh A0 it 4r g2




Q 16. Which are the three broad categories of natural
vegetation?

g 17. AIcdifgeh a9k & Aot @&AT 47 gldrg?
Q 17. Why are things cheaper in the weekly market?

Ul 18.3Uay IIRAC thardl | ARSI HT AT FT 3oo@ A

Q 18. Mention the condition of workers in the impex
garment factory.

9esT 19. [AFIfaf@d g &1 afigu 3R RAAfaf@a &t & 3 QS|

99 USdl & 3¢ o NS FATS I Gehicl &l dcel TGAT| SoTerl Hel & &
AT AT 8R-¢R 379AT arArfae et 7 Jafera & I=am| STEAv

T IS T3 F A eTale Tred g3 AR I 3 garasmel g e
NS YW 39 Tl & & H Ggdl S H FHAT Fd I 3HTAT, 3T
Hedll & IS TSl HHT M & HITH ATE HI 3UMTT UROT | 3o §¢
ST o HEIWT & Teol ST ol HIelsgled T 9T AsThANT gafiaet &
AT |

(i) fordel FITH ATg 1 3UIfr GRoT Hr
(a) HTeldgled

(b) SeTqd

(c) 3THT ST

(d) ST ARTIOT

(i) oTId T Gcadl &l AT ATH g7
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(a) =T gatTarchy
(b) T

(c) T oT&HY
(d) TreA e

Q 19. Read the following passage and answer the
following questions.

The emergence of large states changed the nature of
Gond society. Their basically equal society gradually got
divided into unequal social classes. Brahmanas received
land grants from the Gond rajas and became more
influential. The Gond chiefs now wished to be recognized
as Rajputs. So, Aman Das, the Gond raja of Garha Katanga,

assumed the title of Sangram Shah. His son, Dalpat,
married princess Durgawati, the daughter of Salbahan, the
Chandel Rajput raja of Mahoba

(i) Who assumed the title of Sangram Shah
A. Salbahan

B. Dalpat

C. Aman Das

D. Bir Narain
(ii) What is the name of Dalpat's wife?

A. Rani durgawati
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B. Chandra
C. Rani Laxmi

D. Rani Jodha

9R&T 20. WA TRATE! 3R a8t alel H¥enl & o g TR
3MTETeT-HeTel g3

Q 20. What kinds of exchanges took place between nomadic
pastoralists and settle agriculturists?

g 21. fohEsh Aqed # e AfFarer gue

Q 21. Under whose leadership did the Jats become powerful?
SECTION-D

Q22.'§TOIR H S0 91T TG-TashT 8 ohdl o' | 9 HYUT I 3618307 dr
eI § Tqse HIfav|

P21)

GIGeT SIaTUT I FHSSU|

Q 22. ‘Buying and selling can take place without going to
marketplace '. Explain this statement with the help of example.

OR

Explain putting-out system.




T 23. YU I FHgl I Tah dAle @]

ar

HEG SET o el AT Y A A & v sl & Fifaar
3YTS?
Q23. Write a note on the story of Kathak.

OR

What were the policies adopted by Asaf Jaha to strengthen his
position?

SECTION-E
gl 24 ARA & FRAT AT W HAeATAT@d HF g28T : (S IR)
) PRIPRA T
1) STTEHT IaT
Ill) TTearE
IV) SITSHT o 91|
V) TerETe
Vi) feeelr

Q24. On the outline map of India show the following: (any four)

1)  Karakoram Range
Il) Zanskar Range
lll) Ladakh
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IV) Zoji La pass
V) Rajasthan
VI) Delhi
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Sample Paper-I

Marking Scheme

Ans 1. Russia

Ans 2. Telephone

Ans 3. Hooghly

Ans 4. Newspaper

Ans 5. Production of Cotton
Ans 6. Vote

Ans 7. Guru granthsahib
Ans 8. Banjara caravan

Ans 9. Wajid ali shah

Ans 10. A. Both (A) and (R) are true and (R) explains (A)
Ans 11. Cycle

Ans 12. Delta Area

Ans 13.Rs. 1200

Ans 14. Nadir Shah

Ans 15. During the 17th century the Sikhs got organised into a political community. This led to the
regional state-building in Punjab. Guru Gobind Singh fought many battles against the Rajputs as well as
Mughal rulers, both before and after the institution of the Khalsa in 1699. After the death of Guru
Gobind Singh in 1708, the Khalsa revolted against the Mughal authority under the leadership of Banda
Bahadur and declared their sovereign rule. Banda Bahadur was captured in 1715 and executed in 1716.
In the 18th century, the Sikhs organised themselves into a number of bands called jathas and later on
rrdsls. Their well-knit organisation enabled them to put up successful resistance to the Mughal
governors first and then to Ahamd Shah Abdali. Who had seized the rich province of the Punjab and the
Sarkar of Sirhind from the Mughals.

Or

They wanted to clip away the authority of the Mughal Empire.

Maratha king to be recognised as the overlord of the entire Deccan peninsula.

To possess the right to collect Chauth and sardeshmukhi in the entire region
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Ans 16. Any two
They make the masses know about certain issues/problems.
They propagate the policies and programmes of the government.
They also criticise the unpopular policies and programmes of the government.
They help in forming the opinion of the masses.
They also report various crimes and mis happenings, accidents, etc.
The media also announce the opinions of the public about certain issues/problems etc.
Ans 17. Roadways
Railways
Waterways
Airways
Ans 18. i) Palm leaves or Wood
ii) Akbar, Jahangir and Shah Jahan
Ans 19. Any two
Dev Prayag
Rishikesh
Haridwar
Kanpur
Allahabad
Varanasi
Patna

Ans 20. The trader had lent Swapna money at the beginning of the cropping season on a condition that
she would sell all her cotton to him. Thus, Swapna was in his grip. The trader took advantage of this
situation and paid her a low price.

Ans 21. Scanty patches of grasses and shrubs, groves of willows and poplars, fruit trees such as apples,
apricots and walnuts.

Ans 22.

Market Kinds of goods Price of goods Sellers
sold




Weekly market

Different items of
our everyday use
such as
vegetables,
groceries, cloth
items, utensils
etc.

Price of goods

are not very high.

Common people
can easily afford
them

Small traders and
hawkers

Local people
belonging to low
income group.

Shopping
complex

Branded items
such as
readymade
cloths, home
appliances,
footwear, leather
items etc

Prices of goods
are usually high.
Only rich people
can afford to buy
them

Big businessmen
and traders.

Wealthy city
people.

or

Indian Constitution recognises the equality of all. Constitution helps people in their struggle for equality

through laws and through government schemes

Every person is equal before law.

No one is discriminated against on the basis of religion caste race or gender.

Everyone has access to all public places.

Untouchability is abolished.

Ans23. Rejection of orthodox religion and religious traditions.

Religion was is accessible to all.

Criticism of all external worship of Brahmanical Hinduism and Islam

No caste system.

Belief in formless God.

Bhakti and devotion is the only path of salvation.

He expressed his ideas through couplets.

Or

Double roofed or dochala, four roofed (chauchala).

Comparative more complex-four roofed structures-four triangular roofs placed on four walls moved up

to coverage on curved line or a point.

Built on a square platform.

Interior plain.
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Outer walls decorated with paintings, ornamental tiles or terracotta tablets.

Ans 24. |) A- Maharashtra
B- Karnataka
C- Jaipur
II) A- The Prairies
B- The Sahara Desert

C- The Amazon Basin
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- Cheap

- Most things are avail;able at one place

Nizam-ul-mulk-asaf jah

Jaipur and Luknow

Rejection of major religious traditions

- criticism of priestly classes and caste system

Chauth was 25% tax of the land revenue claimed by zamindars

16. These shops are close to our homes
- We can buy there anytime




- Can provide goods on credit

17. The tawa matsya sangh is an orgnisation which figts for the rights
of the displaced forest dwellers
18. Cheap

- Comfortable for long journey

- any other relevant point

19. Barley,potatoes,peas,beans and turnips
20. During the 17th century the Sikhs got organised into a political
community both before and after the Institution of the Khalsa in 1699
after the death of Guru Gobind Singh in 1708,the Khalsa revolted
against the Mughal authority under the leadership of Banda Bahadur
and declared their sovereign rule.
21. Many teachers rejected prevalent religious beliefs and practices
because these were based on social differences excess ritualism and
outward display piety
22. (I)B

(1) D

() C
(IV) D

23. (I) Censorship: This refers to the powers that government has to
disallow media from publishing or showing certain stories.

(I1) Mass media: TV radio and newspaper are a form of media that
reaches millions of people thus they are called mass media.
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Marking Scheme

C Raja mansingh

A. Shiva

B. Hot

C. 1978

A. Metalled road

D. Andhra predesh

A.1761

D. All of these

A.

. A. Kurnool

. A market which helds particular day of a week

. Cheap and carry heavy loads

. Newspapers and magazines

. Religious reformer of 16" century in christianity
. They wear heavy robes as protection against dust storms and hot winds
. Forests

Grasslands

Shrubs

. Due to no rent,less expense on electricity, self employed
. Temporary workers, low wages

. ()C. Aman Das

(i) A.Ranidurgawati

. The exchanged wool, ghee, etc, with settle agriculturist for grain cloth utensils and other
product
. Jats consolidated their powers during the late 17 and 18 century under their leader Churaman
they acquired control over territories situated to the west of the city of Delhi. Under Surajmal
the kingdom of Bharatpur emerged as a strong state.
. Itis not always necessary that one has to go to market to purchase goods you can place orders
for a variety of things through the phone and these days through the internet and the goods are
delivered at your home
OR

The arrangement between The Merchant and the Weavers is an example of putting out system
whereby the merchants supplies the raw material and receives the finished product.
. The kathaks were originally a caste of story tellers in temples of North India who embellished
their performances with gesture and song Kathak begin evolving into a distinct mode of dance in
the 15 and 16 century with the spread of the Bhakti movement. the legends of Radha Krishna
were enacted in folk plays called Raasleela which combine the folk dance with the basic gesture
of the Kathak storyteller

OR




Asaf jah brought skilled soldiers and administrators from north India who welcomed the new
opportunities in South. He appointed mansabdar and granted Jagirs.although he was still a

servant of the Mughal emperor he ruled quite independently without taking any direction from
Delhi or facing any interference.
24. Map




